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����� #���� ��$ 7	����0#���� #+ � � � � � � � � � � � � � � � � � � � � � "&

��� #����	� %�������
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � "�
����� �����	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � "�
����� 5���� 	���	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � "�

	



��" 6	���
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"���" 
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*���� ��������$ �	���	� )�
	��  � <	��	��
 > #��� � � � � � � � � � � � ��
*���� 
������ �	���	� :(����	��  � ������� �� ��� � � � � � � � � � � � � �!!
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 ��� 
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*�" ����������$ #+ ��
���
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*�"�� #����� ��������� 0 �	���� (
� �	����0���� #+ � � � � � � � � � � � � ��!
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 	� C2A (1, 0) ��$ (0, 1)� � /� 	� 	� H ���  � ��� �� 	����� 
����
�����$  � ������ ��	�������� �� |0〉 ��$ |1〉8

|ψ〉 = α0|0〉+ α1|1〉 , C���D

@	�� α0, α1 ∈ C ��$ |α0|2 + |α1|2 = 1� ����A @	�� α0, α1 �= 0 ��� /� 	� �� ���$ ψ 	
 	� �
��
��
������� ������
��� ������	2��	�� ���$	�	�� ������
 �� �/�	(������ ���

�
 �� (�����
 ���� $	I�� ����

 � � ���2��� ������- ������� ���� ��@��
 $�
��	 � ��� 
��� ���
	��� 
���� ��$ 	� 	

��������� �
���� �� ����
� ��	� (�����
 �
 �����
�����	(�
 �� ��� 
����
� �����(��A ���
�$$	�	���� ���$	�	�� |α0|2 + |α1|2 = 1 ������
 �� ��� ���$��� �� 	������	��� �� /� 	�
8
���

	���  	�
 ��(� ��  � ���$ �� $�����	�� ���	� (����
 �� 
����
 ! �� � P ��� 
���

�




 �
�	� �������� �� ��
���� ������	��

����	�
 �� /� 	�
� ��@�(��A 	� /������ ������	�� ��� ������� �� � C
	���� /� 	�D
���
�������A Q!3 �� Q�3A 	
 ��� $�����	�	
�	�  �� ��� � 	�	
�	�� ���
������� �� /� 	� |φ〉
�	(�
 �	���� ��� ��
��� Q!3 @	�� ��� � 	�	�� |α0|2 �� ��� ��
��� Q�3 @	�� ��� � 	�	�� |α1|2�
6��� ��� ������	2��	�� ���$	�	�� �� ��� � 	�	�� ���
���
 	� �����@
 |α0|2 + |α1|2 = 1�
.� ���
������� ��� 
������
	�	�� 
���� ������
�
 �� ��� ��������	����  �
	
 
���� |k〉
�����$	�� �� ��� ���
������� ��
��� Qk3� .�� 	� ��
� ����
 ����A �������� � /� 	� 	
 (���
$	I����� ���� � ���

	���  	�A 	� 	
 ��� ��

	 �� �� ��	� ���� 	�������	�� ���� � /� 	� ����
���� � ���

	���  	��� :
���	����A ��� (����
 �� ��� ����	��$�
 α0, α1 ��� ��� ����

	 ��
 � ���
�������� ���
�������
 ��� $	
��

�$ 	� $���	� 	� ����	�� ��*�
� �������	��� �����
�����	�� �� ��� 
���� �� � 
	���� /� 	� 	
 ���(	$�$  � ��� .����

�
����� �� 	
 ����� �
�$ �� 	���
����� ��� �I��� �� 
	���� /� 	� ������	��
A @�	�� ���
���������� 	� /������ ������	��� '������������A ����� 	
 �� �/�	(����� �����
�����	��
��� ����	��� /� 	�
� ��� .���� 
����� �����
�����	�� �� � /� 	� ���$
 �
 �����@
8

|ψ〉 = eıγ(cos
θ

2
|0〉 + eıϕ sin

θ

2
|1〉) .

�� 	
 � ��	��$ ���� :/���	�� ���  � ��@�	�	�� ��� ������- ��� ��
 α0, α1 	� ����� ����0
$	����
A α0 = reıγ ��$ α1 = seıδ @	�� r, s, γ, δ ∈ R ��$ r, s ≥ 0A ��$ � 
�	�� �� ���	�� ��
��� ���������
 ϕ = δ− γ ��$ θ = 2arccos r� �� 	
 � �������� �� ���
������� ���� 
�����

���� ������� �	=� eıγ ���  � 	�����$� ����A � 
	���� /� 	� 
���� |ψ〉 ���  � (	
���	2�$ �

� ��	�� (cosϕ sin θ, sinϕ sin θ, cos θ) �� ��� ��	� 
����� 	� R3 �
 	� 	
 	���
�����$ 	� 6	����
���� ��� x0A y0 ��$ z0�-	
 ��� $�4��$  � ��� 
����
 1/

√
2(|0〉+ |1〉)A 1/

√
2(|0〉+ ı|1〉) ��$

|0〉�

����� ��	���	
 ��
���

� ������	 ��
����� 	
 � /������ ������	��� 
�
��� �����
�$ �� 
�(���� /������  	�
�
���
	$��	�� � 
�
��� �� n /� 	�
A 	�
 
���� 
���� 	
 ��� 2n0$	���
	���� �	� ��� 
����
H(n) := C2n

� �	�	��� �� ��� �0/� 	� ��
�A ��� ��������	����  �
	
 
����
 �� H(n)A �� ���$

|k〉 ≡ |kn−1 . . . k0〉, @	�� ki ∈ {0, 1} ,

������� �� ��� 2n ��

	 �� 
����
 �� � ���

	��� n0 	� ���	
���� ����A kn−1 . . . k0 	
 ���
 	���� �����
�����	�� �� kA @���� ki 	
 �

��	���$ @	�� ��� i0�� /� 	�� �� ��� ��
� @����
��� 
�
��� 	
 	� � ��������	����  �
	
 
���� ���� /� 	� ��
 � $�4�	�� (����A �	���� |0〉
�� |1〉� 9��� ���� @	��	� ��	
 ���
	
 ��� /� 	�
 ��� ������$ 
����	�� @	�� ! ���� ���
�	�����
� ��
	�	�� 	� ��� =�� (����� C��� ���
� 
	��	4���� /� 	�DA �
 	
 �
��� 	� ��������

�	�����

���
������� ������ 
����� �� ��������
�� ��� ��
����
� ���� �� ��
��������% 
 ���%�� (���� �� 
 �
�� ��
���
�%��� (����� -!./0� )� ���� ��%��
 ���� ��%�� �����
���� ��� 
���� ��
������� ,������
 ��� �����
��� (����� �� ������� ���������� �����% 
�� ���� (����� ���� �� ��
����� 1�� ��� 2��� �
���3�

�!




�� ��
���� ������
�	��

|ψ〉
θ

ϕ

|0〉

|1〉

x
y

z
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������

��� �	���� ��� 	���	�� �� 
������
	�	�� �� ���  �
	
 (�����
 	
 �� ����@�$ 
���� �� ���

�
��� C��
��
������� 
�����
��D� ���
A ��� ������� C
������
	�	��D 
���� �� �� n0/� 	�
���	
��� ���  � @�	���� �


|ψ〉 =
2n−1∑
k=0

αk|k〉, αk ∈ C, 0 ≤ k ≤ 2n − 1 .

.����
� �� ��� ������	2��	�� ���$	�	�� �� 
���� (�����
 	� 	

∑2n−1

k=0 |αk|2 = 1� ���
��� � 	�	�� ��� ��� /������ ���	
���  �	�� 	� 
���� |k〉 C���
������� ��
��� Qk3D 	
 |αk|2�
.� ���(���	�� ��� 2n  �
	
 
����
 ��� 	$���	4�$ @	�� ��� 
���$��$  �
	
 (�����
8

|0〉 =

⎛⎜⎜⎜⎜⎜⎝
1
0
0
���
0

⎞⎟⎟⎟⎟⎟⎠ , |1〉 =

⎛⎜⎜⎜⎜⎜⎝
0
1
0
���
0

⎞⎟⎟⎟⎟⎟⎠ , . . . , |2n − 1〉 =

⎛⎜⎜⎜⎜⎜⎝
0
0
���
0
1

⎞⎟⎟⎟⎟⎟⎠ .

��������	�����A ��� �-���
	�� ���� ��� �� ���� /� 	�
 �� ��� ��	�� �� �@� �� ����
/������ ���	
���
 �� � ������ ���	
��� 	
 ��$�  � ����
 �� ��� ���
�� ���$��� ⊗8
��������� �	 ��� 
���� 
���� �� � �����
	�� 
�
��� 	
 ��� ���
�� ���$��� �� ��� 
����

����
 �� ��� ��������� 
�
���
� 7�� |ψA〉  � ��� 
���� �� 
�
��� A @	�� 
���� 
����
HA ��$ |ψB〉 ��� 
���� �� 
�
��� B @	�� 
���� 
���� HB� ����A ��� �	� ��� 
���� ��
���  	����	�� 
�
��� AB 	
 HAB = HA ⊗ HB ��$ ��� ,�	�� 
���� �� ��� ����� 
�
��� 	

|ψA〉 ⊗ |ψB〉�

��




 �
�	� �������� �� ��
���� ������	��

�����(��A 	� {|ν〉A} 	
 �� %90 �
	
 ��� HA ��$ {|µ〉B} 	
 �� %90 �
	
 ��� HBA ����
{|ν〉A ⊗ |µ〉B} 	
 �� %90 �
	
 ��� HAB� �� �����$���� @	�� ��� ���
�� ���$��� �� (�����

����
A ��� $	���
	�� ��HAB 	
 ��� ���$��� �� ��� $	���
	��
 ��HA ��$ HB� ���������A
��� 
���� 
���� �� � /������ ���	
��� 	�����
�
 �-������	���� @	�� ��� ��� �� �� /� 	�
�
�  ��(	���$ ���	��
 ��� ��� ���
�� ���$��� |ψ〉 ⊗ |φ〉 �� �@� �� 	����� 
����
 |ψ〉 ��$ |φ〉
��� |ψ〉|φ〉 ≡ |ψ, φ〉 ≡ |ψφ〉�
�
 �� �-�����A ���
	$�� � 
�
��� �� �@� /� 	�
 A ��$ B� ��� ��������	����  �
	



����
 C|00〉A|01〉A|10〉A|11〉D ��� 
�
��� AB ��
��� ���� ���  �
	
 
����
 �� A ��$ B C|0〉A|1〉D
 � ���
�� ����	��	���	��8 |x1x0〉 = |x1〉 ⊗ |x0〉A ∀ (x0, x1) ∈ {0, 1}2�
�� ����	��� /� 	� 
�
���
 ����� ��� 
����
 @�	�� ������  � �-���

�$ �
 � ���
�� ���$0

��� �� 
����
 �� 	�
 
	���� /� 	� ���������
� ��	
 �������� 	
 �������$ �� �
 �����
��	���
�� �����
��������� � 7�� |ψAB〉  � �  	����	�� 
����� �� ����� ��� ��� �@� 
����
 |φA〉 	�
HA ��$ |φB〉 	� HBA 
��� ���� |ψAB〉 = |φA〉 ⊗ |φB〉A ��� 
���� 	
 �����$ ��
������ C��
����������$DK �����@	
� 	� 	
 �����
��� C�� ��
����� ��D� ��� �����@	�� �-�����
 ���
��������$ 
����
 �� � �@� /� 	� 
�
��� ��� =��@� �
 ��� .��� �� /01 ������ C$�� ��
:	�
��	�A +�$��
=� ��$ 5�
��D8

|φ+〉 :=
1√
2
(|00〉 + |11〉) , |φ−〉 := 1√

2
(|00〉 − |11〉) ,

|ψ+〉 :=
1√
2
(|01〉 + |10〉) , |ψ−〉 := 1√

2
(|01〉 − |10〉) .

<��� �������	�� � ���
������� �� � 
� 
�
��� �� � �����
	�� 
�
��� @	�� ��������$

����A ������� @�� �� ��	�=	�� � ��� ������������  �����
 ���	��� ��� ��@ ��������0
���� 	
 ���������	2�$  � ���
������� 	
 $�
��	 �$ 	� $���	� 	� ����	�� ��*�

��� 
������ ����


5������ 
���=	��A /������ ��������	�� ����
 ,�
� ����
����	�� � 
���� �� � �	(��
/������ 
�
��� 	��� ������� 
����A �
����� �����@�$  � � ���
�������� +��
	�	
�
 ����
��	
 ����� ��������	����� � C�	��D ��������� �� ��� /������ 
�
���A @�	�� ���  � ����0
����	����� �����
����$  � � ��	���� ���������8

��������� �	 ��� �(����	�� �� � ������ ���
	��� 
�
��� 	� � �	�� 	����(�� [t0, t1]A t0 < t1A
	
 $�
��	 �$  � � ��	���� �������� U(t0, t1) @�	�� $����$
 ���� �� t0 ��$ t1� 7�� |ψt〉
$����� ��� 
���� �� ��� 
�
��� �� �	�� �A ���� 	� 	


|ψt1〉 = U(t0, t1)|ψt0〉 .
�'�� �
���	 ���������
���� U �� 
 ����
� ����
��� �� ����
�� 1
�� ��������� ��� ����
��� ������3
 ��
U†U = I 
 ����� U† = (UT )∗ �� ��� ������	 ���4�%
�� ��
������ �� ��� U �
���	 
�� I �� ���
�������� ����
����

��




�� ��
���� �
���

� ��	���� ����
������	�� �� n /� 	�
A ��$ ���
 � (����� 	� H(n)A 	
 � ��	���� 2n × 2n

����	-� ��� 
�� �� ��� ��	���� ����	��
 �� 
��� 
	2� 	
 � ����� 	� ��� ���� ��	� 
��
� @	��
��� ����	- ����	��	���	�� �
 ����� ������	��� �� ����	�����A 	� �����@
8

������� �	 �� U ��$ V ��� �@� ��	���� ����	��
 C�� 
�	�� �� $	���
	��DA ���� UV 	

��	���� �
 @����

9��� ���� ����� ��� 	�4�	���� ���� ��	���� ����	��
 �� � 4-�$ 
	2��
#������	�����A ��	���� ����
������	��
 ���
��(� 	���� ���$���
  ��@��� (�����
 ��$

@	�� 	� ��� ������ �� (�����
 ��$ ��� �����
  ��@��� (�����
� ���� ��� 	���	�� �� �

�����	��
 �� ��� (����� 
����� �����(��A ��	���� ��������
 ���  	,���	(� ��$ ���������
��(��
	 ���
6����@	�� ��� ������������ �� ������	��� �	���	�
 @�	�� ���
	
� �� @	��
 ��$ ���	� ����
A

��	���� ����
������	��
 ��� �����$ ������	 
����� ��	
 ������� 	
 ������� $	
��

�$ 	�
����	�� ��&� 7	=� ���� ���

	��� ����
 ��� ��
� 	�������� /������ ����
 ��(� � �����	�
�����	��� �����
�����	��� � ������� /������ ���� U ������	�� �� n /� 	�
 	
 	���
�����$
	� 6	���� ���C�D� ��� 
���� @	��
 �����
���$ �� ��� 	����	�� C����D ��$ �����	�� /� 	�

C�	���D� '
�����A ���  �����0��
� @	�� �����
���$
 �� ��� ���
� 
	��	4���� /� 	� C/� 	�
!D� �����
� U 	
 � ���$��� �� ��	���� ����
������	��
 U1 ��$ U2A U = U2U1A ����
�� �/�	(����� 
������	� 
�� �� �����	��A �� /������ �	���	� ��
����	(���A 	
 $��	���$ 	�
6	���� ���C D� 9��� ��� $	I����� ��$�� �� U1 ��$ U2 	� ��� ���$��� �����	�� ��$ 	� ���
�����	��� �����
�����	���

...

n− 1
n− 2

1
0

U

1
3

... U1 U2

1�3

6	���� ���8 �D � ������� �0/� 	� ����A $�����$ U � ��� /� 	�
 ��� ������$ ����  �����
C!D �� ��� C�0�D�  D 
������ �	���	� 	��������	�� U = U2U1  � ����
 �� U1 ��$ U2�
�	�� ��$ ������� L�@ 	� ��� /������ �	���	� ��$�� ���
 ���� ���� �� �	����

����� ����	
 ��
�� ���
�

� 
	���� /� 	� ���� 	
 	$���	4�$  � � ��	���� 2 × 2 ����	-� ���� 	�������� /������
����
 ��� $�4��$  � ��� 
�0�����$ 0���� 	�������A $�����$ � A  ��$ ! 8

� =
(

0 1
1 0

)
,  =

(
0 −ı
ı 0

)
, ! =

(
1 0
0 −1

)
.

��
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�	� �������� �� ��
���� ������	��

���	� �����	��� �����
�����	��A 	����$	�� ��� ���	�� �� �� �� 	����� 
	���� /� 	� 
����A
	
 
��@� 	� 6	���� ���� ��� � 0���� 	
 �/�	(����� �� /������ "#$� ��������	(� 
�� ��

��� �  �- �� ���$ @	�� "#$ ��$ ��� ⊕ 
�� ���

α|0〉 + β|1〉 β|0〉 + α|1〉�

α|0〉 + β|1〉 −ıβ|0〉 + ıα|1〉 

α|0〉 + β|1〉 α|0〉 − β|1〉!

6	���� ���8 ��� +���	 ����	��
�

.� �-������	��	�� �� ��� +���	 ����	��
 ������� ��	���� ����	��
 ������8 ��������	��
��� ����	- �-������	��
 e−ı ψ U A ��� U ∈ {�, ,!} ��$ 0 ≤ ψ < 2π ��
���
 	� �����	��

� ��� ��� x0A y0 ��$ z0�-	
 �� ��� .���� 
������ 6��� ��� ��
���	�� ����	��
 ��� �����@	��
�����	�� ��������
 %&A %� ��$ %' ���  � ��
	�� $��	(�$ C�
	�� cos(ψ) = cos(−ψ) ��$
sin(−ψ) = − sin(ψ)D8

%& (φ) =
(

cosφ ı sinφ
ı sin φ cosφ

)
,

%� (φ) =
(

cosφ sinφ
− sinφ cosφ

)
,

%' (φ) =
(
e−ıφ 0
0 eıφ

)
.

�����$	�� �� ��	
 $�4�	�	�� � ���� %� [φ]A u ∈ {&, �, '}A 	
 � �����	��  � 2φ � ��� ���
u0�-	
� �� �	��������A %&A %� ��$ %' ��� �
����� $�4��$ 	� � @�� ���� ���� �������
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�

�� 2n−(q+1) ��,�� E ���=
F �� ��� $	������A @���� ����  ���= �����	�
 2q ����	��
 U
@�	�� ��� $	�������� �������$ ��$ 
�	���$  � ��� ��
	�	��� ��� 
�������� �� Û @	��
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A 	� �� �	(�� � ��	���� ����
������	�� U �� n /� 	�
A �����
	
 �� �	���	� �� 
	2� �������	�� 	� n �����-	���	�� U G�!�H�

����� �
����������� �� ������ ���������������

������� " 	
 ���(��  � �-��	�	��� ���
�����	�� � $������
	�	�� �� �� �� 	����� ��	����
����	- 	��� 
	���� /� 	� ��$ �"#$ ����
� �� ��� �����@	��A ��	
 ���
�����	�� 	
 ����	��$
 �	�L�� �� ��	
 �����-�A �� 	����(����� �� ��	
 ���
�����	�� 	
 ����	���$ @�	�� @�

	����$���$  � ��� ��$ �(��� G*H� ����A ���� ��� 	$��  ��	�$ ���	� �������� 	
 $�
��	 �$�
��� ���
�����	�� �� � $������
	�	�� ���  � $��� 	� �@� 
���
8 4�
�A �-���

	�� ���

������� ��	���� ����	- �� $	���
	�� d �
 � ���$��� �� �� ��
� d(d − 1)/2 ���������
������� �
�������A ���� 	
A ����	��
 @�	�� ��� ���� ���0��	(	���� �� �@� �� ��@�� (�����
���������
A �
 
��@� 	� 6	���� ���A ��$ 
����$A 	��������	�� �� �� 	����� �@�0��(��
����	-  � 
	���� /� 	� ��$ �"#$ ����
�

�!




�� ��
���� �
���

Us,t =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1
� � �

1
a · · · b
���

� � �
���

c · · · d

1
� � �

1
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6	���� ���8 � �@�0��(�� ��	���� ����	- Us,t @	�� � 2 × 2 C��	����D ��������� ����	- Ũ
���
	
�	�� �� a, b, c, d ∈ C� ��� ���J�	���
 a ��$ b ��� 	� ��@ sA ��� ���J�	���
 c ��$ d
��� 	� ��@ t�

��� 4�
� 
��� 	
 ��
� �����$ ��� ��������� ����	
�������� �� G��H #� �� ��=� $�
��	 �

��	
 $������
	�	�� 	� ����
 �� ���$	�	���� ���� ��	� ������	��
 �
 � ���

	��� ��	�������	��
�� 
50������	2��	��� �	��� ���

	��� 
50������	2��	�� 	
 ���	�����  �
�$ �� ����0(����$
#	(��
 �����	��
A @�	�� ��� ����	��
 �	=� ��� ��� 	� 6	���� ���A �-���� ���� ��� ���������
����	- 	
 � ����0(����$ �����	�� ����	-

Ũ =
(

cosφ sinφ
− sinφ cosφ

)
,

�� ����
 ��� �@�0��(�� ��	���� ����	��
 ������	 3����� �
���������

��� �����	��� ��� ��� 
����$ ���� �� ��� ���
�����	�� 	
 �-���	��$ �
 $��� 	� G��H�
��������	(��� 	� ���  � �-���	��$  � ����
 �� 3��� ���� ��������� G*A �!�H� 9�@A ���
 � s ��$ t ��� n0 	�  	���� �����
�����	��
 �� ��� �@�  �
	� 
����
A � �@�0��(�� ����	-
Us,t @	�� ��������� ����	- Ũ ���
 ��� 7��  	� k  � �  	�A ��� @�	�� s ��$ t $	I���
����A ��� /������ �	���	� ��� ��� �@�0��(�� �������� 	
 ��������$  � ��� �����@	�� �����

���
8 6	�
�A ����� �"#$A @	��  	� k �
 ��� �������  	�A �� �(���  	� ��� @�	�� s ��$ t
$	I�� C�-����  	� kD ��$ ����� "#$ �� �(���  	� �� s @�	�� 	
 ! C�-����  	� kD� �����$A
����� Ũ �� /� 	� k @	�� ��� ����� /� 	�
  �	�� ������� /� 	�
 C�n−1(Ũ)D� 6	�����A �����
��� ��� "#$ ��$ �"#$ ����
 �� ��� 4�
� 
��� ���	�A  �� 	� ��(��
� ��$��A ��$�	�� ���
��������	��
� ��� ���	�� 	����������	�� ��/�	��
 O(n) ����
� %� ����
�A ��� �n−1(Ũ)
���� ���  � ��$���$ �� � 
�/����� �� �"#$ ��$ 
	����0/� 	� ������	��
 �
 @���A ��/�	�	��
������� O(n) ����
� ���
A ��� ���	�� 	����������	�� �� �� �� 	����� ��	���� ����	- �
�

O(n222n) 
	���� /� 	� ��$ �"#$ ����
�

��




 �
�	� �������� �� ��
���� ������	��

�� ���	� ������ ����� G*H ��� ��$ �(��� ���
��� � $������
	�	�� �����	���� @	�� ��
	����(�$ �@�0��(�� $������
	�	�� ���
� �
	�� � �����	/��A @�	�� ���� ���� 0�������	�
 �������	������ ��� 	$��  ��	�$ ��	
 �����	/�� 	
A �� 4�$ �� ���	��� ��$��	�� �� �@�0
��(�� ������	��
 	� ��� 4�
� ���
�A 
��� ���� ��� ��$��	�� �� ��� 
�������	�� �����������
�� 
���0	�(���	�� ����
�A ��
���	�� ���� ��� 
����$ ���
�A ���$
 �� � ��-	��� ������ ��
���������	��
 �� ��� 
���0	�(���	�� ����
8 � ���	�$���	� 
� �	���	� A 	
 � ���� 
�/�����
�� ��� ����

A1A2 . . . AkV Ak . . . A2A1 .

�@� 
����

	(� ���	�$���	� 
� 
�/�����
 A ��$ B ��� ��(� � 
� 
�/����� �� 
���0
	�(���	�� ����
 	� ������A �	=�

. . . Aj+1Aj . . . A2A1A1A2 . . . AjBj+1 . . . ,

@	�� B1 = A1 . . . Bj = Aj @�	�� ���  � ��$���
 �� . . . Aj+1Bj+1 . . .�
�� 	
 
��@� ���� ��� 0�������	�� �
��	�)����� 4�
�����	 C+%�D ���	�(�
 � �����  ��0

�4�A ��
���	�� 	� 
	��	4������ 
������ $������
	�	��
 ���� ���
� � ��	��$  � ��� ���0
(���	���� �����$� ��@�(��A �(�� ��� 
���� ��� ��
 �� /� 	�
A ��� ��
���	�� /������
�	���	�
 ��� 
�	�� ������ 6�� ���� $���	�
 
�� G*H�
�� 	
 ��=��@�A @������ ����� �-	
� ���� �J�	��� $������
	�	�� �����	���
� ���������A

����� ���������
 �	���  � ����

��� �� 4�$ �(�� 
������ $������
	�	��
� ���� � $	I�����
�������� �� 4�$ ���	��� /������ �	���	�
 	
 ���(	$�$  � �(����	����� �����	���
 C���
����	�� *����D G�&�H�

����! ����	
 ���
�

�� �������� 
�	���� �� ������ 	
 �  ���=0 �- �����	��A ���� 	
A � �����	�� @��
� 	�������
@��=	�� 	
 ��=��@�� �� 	���� ��� ��� ������ 	
 $	������ �����

�$ 	��� �� ������� �� 	


�	$ ���� ��� ������ ��
���$
 �� ��� /���� 	���$	������ ��	
 	���	�
 ���� ��� ��
�
 ��
������	�� �  ���=0 �- ��� 	�����(��� ��� ������-	�� �����
	
�
�� ������ ���� 	� /������ ������	�� 	
 �
����� � E(��	� ��F ����� �� ��� ��
 ��� ��0

��$	�� �� ��� ��� 	�
�����
 ��$ �����
���
 	� ��	
 @�� ��� 	���� �� � /������ �����	����
%����� ����
 ��� ������ ���� 	�
����� �� 	�
����� �� � �	(�� ��� ���A @�	�� ��� E
��0
����$	��F /������ �	���	� ����	�
 ��������$� ���
�/������A � ������ /������ �	���	�

��(	�� � �	(�� ��� ��� ��
 �� ���	�(� ��� ������� ������
 C����� ���
�������D ��� ���
������
 �����
���	�� ��� ��� 	�
�����
�
�� �����	� /������ �����	���
A �	=� #��(��3
 C��� ������� "��D �� )���
��3
 C��� ����	��

�����DA ������ ����
 ��� ��������	�� ����	��
 ������	�� .������ �����	��
 f : {0, 1}n →
�'��� �
�� ��� ������� ��
� %����
��� ��� 
� 
�����
�� ����
�� �
���	 
� �	
�� ������������� 
 ��
�	��
������	 ���
��
	����

�*� ������
 
 %
�� A �� �
���� ����������	��� 
 �� AA = I � 6	
����� 
�� ��� ,
�
�
�� %
�� � 
�� ���
��� 
�� ���� %
����

��




�. *��/���	�� ��
���������

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1 0 0 0 0 0 0 0
0 1 0 0 0 0 0 0
0 0 0 1 0 0 0 0
0 0 1 0 0 0 0 0
0 0 0 0 0 1 0 0
0 0 0 0 1 0 0 0
0 0 0 0 0 0 0 1
0 0 0 0 0 0 1 0
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6	���� ���!8 :-����� ��� �� ������ ����	- 	��������	�� ��� #% �����	�� �� �@� 	����
�
��� �	���0��
� /� 	� 	
 L	���$A 	� �� ���
� ��� �� ��� �@� ����� /� 	�
 	
 Q�3�

{0, 1}� ��� ����
������	�� ���  � $�4��$  � ��� ��� )f : |x, y〉 → |x, y ⊕ f(x)〉A @����
|x〉 	
 �� n− qubit 
����A |y〉 	
 � 
	���� /� 	� 
���� ��$ ⊕ 	�$	����
 ��� �$$	�	�� ��$���
�� 6�� y = 0 ��� 4��� 
���� �� ��� 
	���� /� 	�  �����
 |f(x)〉� ��� ������ ����	-
��� f 	�(���
 ��� ������ /� 	�A 	I f �	��$
 E�F �� ��� 	���� /� 	�
� �� ��	
 ��
�A ���
����	- 
@��
 ��� ����	��$�
  ��@��� ��� 
����
 $	I��	�� ���� @	�� ��
���� �� ��� ������
 	�� �
 �� �-�����A 6	���� ���! 
��@
 � ��(��
	 �� ����	- 	��������	�� #% �� �@�
	����  	�
� ��� 
�� �� �����
�����	�� �� �� ������ ���� 	
 �
����� ,�
� �� �������	�����
�� ���$  �-A ��(��	�� ��� ��� /� 	�
 ��� ������ 	
 ������	�� ��� �� ��
�
 @���� ��� ������
���� �����
���$
 �� � .������ �����	�� ��� ������ /� 	� @	�� ��� �����	�� (���� ���  �
���=�$  � ��� ⊕ 
�� ���
.��	�$ �(��� ������ ���� 	
 � ����	����� /������ �	���	� ��������	�� ��� ������� ����

� /������ �	���	� �
����� ���
 �$$	�	���� 	����
 ��$ ���$
 ��
� �$$	�	���� ���	�����
/� 	�
 @�	�� ��� ���� ��� 	� ��� 
�� �� �����
�����	�� �� ��� ������� ��	
 ���  � $���A
 ����
� ��� �$$	�	���� /� 	�
 ��� ��� ���$�$ ��� ��� ����	�$�� �� ��� ��������	�� ��$
�
	�� � �����	/�� �����$ ����	
����
A ��� ��� ��� �	$ �� ��� E��� ���F �

	���$ �� ���
���	����� /� 	�
 ��$ ��� ����  ��= �� ��� 	�	�	��  �
� 
����� 6�� 	�
�����A � /������
�	���	� ��� )f �	��� ��(� �$$	�	���� 	���� /� 	�
 ����$	�� � .������ �����	�� f @�	��
	
 ���� ���������$ �� ��� ������� �	��� ��� ���

	��� �	���	� ���  � 
	������$ �J�	�����
C	� �	���� �	��D  � � /������ �	���	�A �
����� ��� $��
 ��� ���$ �� $��� @	�� ��� �-���
	����������	���

��� ��� ���	!� ���
�������



������ 	�������	�� �����

	�� 	
 �
���

 @	����� ���$��� �� ���
������� ��
����	(����
�� 	
 ��� 4��� 
��� 	� /������ �����	���
A 
	��� ����� 	
 �� ����� @�� �� ��	� 	�������	��
� ��� ��� /������ 
�
��� ����  � ���
�������� ��	
 
���	�� $���
 ���� @	�� ��� 
���
5������ �� ��� 6��	��� 	������	��� 	� ��� ��������	����  �
	
A @�	�� 	
 � 
���	�� ��
�

��




 �
�	� �������� �� ��
���� ������	��

�� � ���� ������� /������ ���
������� $�
��	 �$  � ���
������� ��������
� ��@�(��A
��� ����� =	�$
 �� ���
�������
 ���(�$ ��  � �/�	(����� �� ��	���� ����
������	��
A �
	��
��-	�	��� /� 	�
A 
�0�����$ ��������A 	� ����

���A �����@�$  � ���,���	(� ���
�������
�
.����� �-���	�	�� ��� �I���
 �� ���,���	(� ���
�������
 �� /������ 
�
���
 ��� ���0

���� �� ����������� 	
 	����$���$� �� � 
��(� �� M 	
 � �������� �� � ���
	��� 
�
���
���� ���  � ���
���$� ��������	����� M 	
 � ����	�	�� C
���0�$,�	��D �������� 	� �
�	� ��� 
���� @	�� � 
������� $������
	�	�� M =

∑
i λi|i〉〈i|A @���� λi ��� ��� �	���(��0

��
 �� M � ��� �����
���$	�� �	���
����
 |i〉 �� M ���� �� %90 �
	
 	� ��� (����� 
�����
����A Pi := |i〉〈i| 	
 ��� ���,����� ���� ��� �	���
���� |i〉�
��������� �	 � ���,���	(� ���
������� �� � /������ 
�
��� 	
 $�
��	 �$  � �� � 0

��(� �� M � ��� ��

	 �� ������� �� � ���
������� �� M 	
 �� �	���(���� λi �� M �
����� ��� ���
�������A ��� /������ 
���� 	
 �� �	���
���� �� M �����
���$	�� �� ���
���
���$ �	���(����� �� ��� /������ 
���� �� ��� 
�
��� ,�
�  ����� ��� ���
������� 	

|ψ〉A ���� ��� ��� � 	�	�� �� ����	�� ��
��� λi 	
 �	(��  �

Pr(i) = ‖Pi|ψ〉‖2 = 〈ψ|Pi|ψ〉 .
�� ��� ������� 	
 λiA ��� ������	2�$ ��
�0���
������� 
����  �����


Pi|ψ〉√
Pr(i)

.

� ���,���	(� ���
������� �� ��� ��	
��������� ����� {|k〉} 	���	�
 ��� �
� �� ���,�����

Pk = |k〉〈k| �� ������� ��� ���,���	(� ���
�������� 6�� ���
�������
 	� ��� 
���$��$
 �
	
 ��� �����	��� �������
 λi ��� 	$���	4�$ @	�� Qi3� �� ��	
 ��
�A � 
������
	�	�� 
����
��	�� �� ��� ���
������� ������
�
 @	�� ��� ���
������� �� |i〉� 6����������A 	� 	
 ���
	�������� �� =��@ ��� �	���(����
 λi C��$ ���
 MDA 
	��� ��� � 	�	�	�
 Pr(i) ��$ ��
�0
���
������� 
����
 $� ��� $����$ �� ���	� �����	��� (����
� �� ��� �����@	��A ��� ����
E���
�������F ��@��
 �����
 �� ���,���	(� ���
�������
 	� ��� ��������	����  �
	
�
� 
������ ���
������� �� � 
	���� /� 	� q 	� �� n0/� 	� ���	
��� @	�� ������� Qi3 	
 �

���,���	�� 	��� ��� 
� 
����A 
�����$  � ��� ��������	����  �
	
 (�����
 @	�� q = i� ���
��� � 	�	�� Prq(i) �� ���
��	�� � 
	���� /� 	� @	�� ��
��� Qi3 	
 ��� 
�� �� ��� ��� � 	�	�	�

��� ���  �
	
 
����
 @	�� q = i ��$ ��� ��
�0���
������� 
���� 	
 ,�
� ��� 
������
	�	�� ��
���
�  �
	
 
����
A ��0������	2�$  � ��� ������ 1/

√
Prq(i)� 6�� �-�����A ���
��	�� ���

4�
� C�	���0��
�D /� 	� �� |ψ〉 = α0|00〉+α1|01〉+α2|10〉+α3|11〉A @	�� α0, α1, α2, α3 ∈ C
��$ |α0|2 + |α1|2 + |α2|2 + |α3|2 = 1A �	(�
 Q�3 @	�� ��� � 	�	�� |α1|2 + |α3|2A ���(	�� ���
��
�0���
������� 
���� |ψ′〉 = 1/

√|α1|2 + |α3|2(α1|01〉 + α3|11〉)� ��� ���,�����
 ���
,�
� Pi = I ⊗ |i〉〈i|� �� ���  � ���(�$ ���� ����	��� /� 	� ���
�������
 ���  � ������$
�
 � 
��	�
 �� 
	���� /� 	� ���
�������
�
9��� ���� /������ ���
�������
 ��� 	���(��
	 �� ��������
A ������ 	� 	
 �
��� �� ����

���
� ��������
 ���
������� 
����� �� ��	
 ���
	
 � 
	���� /� 	� ���
������� 	
 �

	���$
��� 
������	� 
�� �� 	���
�����$ 	� 6	���� �����

�"




�0 ��
���� �	���	��

�

6	���� ����8 �	���	� 
�� �� ��� � 
	���� /� 	� ���
��������

��� /������ �I��� �� ��������$ 
����
 @�
 �����$� $	
��

�$ 	� ����	�� ������ ���
���0
����
 ���(	$� ������� �/�	(����� @�� �� $�4�� ������������� � ����	��� /� 	� /������

���� 	
 ��� ��������$ 	� ��� ���
������� �� ��� 
	���� /� 	� ��
 �� �I��� �� ��� �����

	���� /� 	� ���
�������� ���
	$�� ��� ��������$ .��� 
���� |φ+〉 = 1/

√
2(|00〉 + |11〉)�

+��(	$�$ ��� 
����$ /� 	� ��
 ���  ��� ���
���$  �����A ��� ��� � 	�	�� �� ���
��	��
��� 4�
� /� 	� ��  � |0〉 	
 1/2A ��$ (	�� (��
�� �� � ���
������� 	
 ��������$ �	���� ��
��� 4�
� �� ��� 
����$ /� 	�A ��� ���
������� �� ��� ����� /� 	� 	� ���� ��
� �	(�
 ���

��� ��
���� ���� 	
A ��� ���
������� �� ��� /� 	� ��
 �� �I��� �� ��� ���
������� ��
��� ����� N ��� ���
������� �������
 ��� ���������$�
�� 	�������� ��	��	��� � ��� ���
�������
 	� ��� �����-� �� /������ �	���	�
 	


$	
��

�$ 	� ��� �����@	�� 
���	���

��" 
������ �	���	�


��� /������ �	���	� ��$�� �� ��������	�� G""H 	
 ��������
 �� ��� ���

	��� �	���	� ��$���
� ���

	��� �	���	� 	
 ��$� �� ����
 ������	�� .������ �����	��
 ��$ @	��
 ���� �������
����
�� � /������ �	���	� ��
 ������ ��� 
��� 
��������A  �� @	�� 
��� ��
��	��	��
�
%� ����
�A ����
 	� /������ �	���	�
 ��� /������ ����
� ���	� �����	��� �����
����0

�	�� 	
 �����$� $�
��	 �$ 	� ����	�� ��"� <	��
A 
�� ��	2�$  � ���	2����� �	��
A �������
/������ ����
 ��$ 	�$	���� 	���� ��$ ������ �� � /������ �	���	�� :��� @	�� �����
���

� �����	� /� 	�� ��@�(��A @	��
 ��������� $� ��� �����
���$ �� ���
	��� @	��
A  �� �����
	�
���$ �� � E�	�� �	��F� ��� /������ �	���	� 4-�
 ��� ���������	��� ��$�� �� ��	����
����
������	��
 C���
 
��� ���
�������
D @�	�� ��� ����	�$ 
����

	(��� �� �� 	�	�	��0
	2�$ /������ 
����� �� ��� 
����$ �����@	
� ��� 	���� 
���� �� �� n0/� 	� /������ �	���	�
	
 ��� ��������	����  �
	
 
���� |0〉⊗n = |0〉⊗ · · · ⊗ |0〉� .� ���(���	�� � /������ �	���	�
��
 ��  � ���$ ���� ���� �� �	���� ��� 
	����
� /������ �	���	� 	
 � 
	���� /������ �����
��@�(��A �� 	�������� ��	
 ����A 	� �
����� ��
 ��  � $������
�$ 	��� � 
�/����� ��
���������� ����
�
��� �����@	�� ����
 
���	�� ��� ��
��	��	��
 �� /������ �	���	�
 �������$ @	�� ���

	���

�	���	�
 ��$ $�4�� ����@�$ �������	��
 �� /������ ����
 	� ��� ������ /������ �	���	�
��$��8

�7���
���
 �� �
� �� ��������� �� 
 1
������3 �������� %�
�� ����� �������� ��������� ��� %
��� 
��
����� �������� 
��� ��������� ������

�*




 �
�	� �������� �� ��
���� ������	��

• %��� �����	� �	���	�
 ��� (��	$ /������ �	���	�
A 	� �� ����
 ��� ��� ����@�$� �
/������ ���� @�	�� 	
 ��  � ����	�$ �������$�� ��
 ��  � @	��$ �
 ���� �	��
 	�
��� /������ �	���	��

• ��
�A @	�� ���

	��
 ��� ��� ����@�$ 
	��� �� 	����� /� 	� ��������	��
 ���  �
����	2�$  � �+,* ������	��
�

• �
 � ��
��� �� ��� ��(��
	 	�	�� �� ������	��
 	� /������ �	���	�
 	� 	
 ��� ����@�$ ��
������� ��� 1,"�" ������	��A @�	�� ,�	�
 
�(���� @	��
 �� � 
	���� @	�� �����	�	��
���  	�@	
� #% �� ��� 	����
�

• �����(��A ��� ��� �� �� 	���� ��$ ������ @	��
 �� /� 	�
 ��
����	(��� 	
 �-�����
��� 
����

• �� ������
� �� ���

	��� �	���	�
A 	� 	
 ��� ��

	 �� �� 
��	� � @	�� 	��� �@� �� ����
	$���	��� @	��
A @�	�� ����
A ��� 1,"#)$ ������	�� 	
 ��� ����@�$� ��	
 �����0

���$
 �� ��� �����@	�� ��������

������� �	 +6��������
 ������	, �� 	
 ��� ��

	 �� �� ��=� � ���� �� �� ��=��@�
/������ 
����R

� ����� �� ��	
 ������� 	
 �	(�� �� �� 	� G�!�H� :(�� ������ C��	(��
��D ����	�� 	
 ���
��

	 ��A ���

	��� 	�������	�� ���  � ���	�$ @	�� ������� 4$��	��A �
 ��� ����	����� ��	�
�� ���������� 
����
 ���  � �����$ ����������
�� ��� �����@	��A ��� ��	� �
����
 �� /������ �	���	�
 ��� 
�����	2�$A  ��	��	�� @	��

� @��=	�� $�4�	�	�� �� � /������ �	���	� ��$ ����	���$ @	�� �-������	��
 �� 	����
 ��$
������
 �� /������ �	���	�
�
� ������	 ������� 	
 � /������ ��������	���� ��$�� ������	�� �� � 4�	�� ��� ��

�� /� 	�
� � ������	 ������� �� n ������ 	
 � ��	���� ������	�� �� H(n) @�	�� ���
 � �����
����$  � � 4�	�� ����������	�� �� /������ ����
� �� �����	��A ��� ��	����
������	�� 	
 ��  � �����
�$ �� �������
 ���� � C
����D 4�	�� 
�� �� /������ ����
 @�	��
���� � ��	(��
��  �
	
 ��� /������ ��������	��� �	��� $	
�����A ��	(��
�� ���� 
��

����	2� ��� ��	���� ������	�� @	�� �� 	����� �������� C������� " ��$ *DA ��	
 ��
��	��	��
C��
� 	�������� 	� ��� �����-� �� �	���	� �(����	��D $��
 ��� �	�	� ��� 
�� �� ������� ��
�����	��
�
� /������ �	���	� ��� ��� 	�
 ��
�� 	� �@� @��
8 C	D  � ��� 	�	�	�� /������ 
����

C��� 
���� �� ��� /� 	�
D �� C		D  � 	���� ����
 C�� ������ ����
DA ���� 	
A ��	���� �����0
�	��
 @�	�� $����$ �� ��� 	����� ��� 4�
� �������� 	
 ���� 	���	�	(� ��$ �����
���$

�� ��� @�� ���

	��� �	���	�
 � ��	� ���	� 	����� ��@�(��A ����$	�� 	����
 ��� ���$ ��
/������ 
�
���
 @	�� 
�(���� /� 	�
� �	��� ��� ��
�
 ��� �	���	� �(�����	��
 �� ���(��0
�	���� ��������
 	�����
� �-������	���� @	�� ��� ��� �� �� /� 	�
A ����� ��� ��
 ��
�
 � �(�	$�$ C��� ������� *D� ��	
 	
 ��

	 �� �
	�� ��� 
����$ ��������� %����� �� 	����

�&




�0 ��
���� �	���	��

����
 �
����� 
� 
�	���� ���� ������ /������ �	���	�
 ��$ �	$� /� 	�
 ����

��� �� ��0
��$� ������� ��� ��� 	����
 ��$ ���	����� /� 	�
� ?��A ��� �
� �� ������ ����
 ���$
 ��
� $	I����� ������-	�� ���
���A 	� 	� 	
 �

���$A ���� ��� ������ �������
 	�
 ������	��
	� � 
	���� �	�� 
��� C��� ����	�� ��&��D� '
	�� 	���� ����
 $��
 ��� ������$	�� �� ���
$�4�	�	�� �� /������ �	���	�
 �	(�� � �(�� ��� 	���� ���� 	
 ������ 	��������$ 	� ���
��	���� ������	�� ��$ ���  � 
��� �
 �� ������� �� ��� ���������� ���� 
���
�����	�� ��� /������ �	���	� ����
 ����	���	�� ��� ��	���� ������	�� @	�� ��� 	�	0

�	�� /������ 
����� ��� ��
���	�� (����� ���(	$�
 ��� ��� � 	�	�	�
 ��� ��� ���
�������
�������
� � ���
������� 	
 ����

��� �� � ��	� ��� 	�������	��� 6��� ��	
 ��� ���
��
�� ��� /������ �	���	� ���  � 	������$� ��@ ��	
 	
 $��� 	
 �

���	���� � ���(���	��� 6��
	�
�����A ��� � $��	
	�� ��� ��� ��� ��� $�4�� � ����	����� /� 	� �� ����� ��� ��
@���
�� � $	I����� @�� ��� ������ �� ��� )���
��01�2
� �����	��� C$�
��	 �$ �� ��� ��$ ��
��	
 �������D 	
 � ��	��$� ����A ��� ���
������� ��
��� �� ��� ���	�� /������ 
�
��� 	

$��	
	(� ��� ��� �������8 %��  �
	
 
���� ����$�
 ��� ��
@�� E� 	
 ���
����FA ��� �����

��� ��
@�� E� 	
  ������$F� �����(��A ��� ���	�	2��	�� ��� ���
 �(��� /������ 
����
��� ����$� � �����	� 
����	��� ��A ����� ��� �
����� ���� @��
 �� $�4�� ��� ������
��$��	�	�
 ��$ ��� $��	
	�� 	� ��(�� �� �	���� @�� @	�� �I��� ��� /������ �	���	� 
��(	��
� �	(�� ��� ����
9���A 	� 	
 
�	�� �� ���� 	

�� @������ ����� �-	
� ����� ��$��
 �� ��������	�� @�	��

��� ���� ��@����� ���� ��� /������ �	���	� ��$���

��"�� #��
��
����
 �
����
�
���

��� 4��� ������� 	� /������ �	���	�
 	
 ��� ���
�������� �� �	���	�
 @	����� �-��	�	�
���
�������
 �� ��� ��$ ���� ��� 	���	�	��� �

���$� ��@�(��A ���
�������
 ��� ��
�
 � ��������$ �
 �� 	������$	��� 
��� 	� ��� �	���	�� �����(��A ���� ����@ ���$	�	����
 �����	��
 	� /������ �	���	�
� ��� �$(������ �� 	������$	��� ���
�������
 	
 ����
���� ���$ �� ��=� /������ �	���	�
 ���� E���$� ��F ��$ 	��������� ��A @��� ���� ���
�
�$ 	� � ���(�� ��$ �I���	(� @���
�� ��
� �� � 
	����0/� 	� 	������$	��� ���
�������A $����$��� �� ��� ���
�������

��
��� Q!3 �� Q�3 ��� �� �@� /������ 
� �	���	�
 	
 ����	�$ ��$ $�
��	 �
 ��@ ��� ���0
�	���$ �(����	�� �� ��� /������ 
�
���� ����	���0/� 	� 	������$	��� ���
�������
 ���
�����
�$ �� 
	����0/� 	� 	������$	��� ���
�������
� ���������A 	� 	
 
�J�	��� �� ����

�� ��� ������� ��� ��

	 	�	�� �� �
� 	������$	��� ���
�������
 �-���$
 ��� /������
�	���	� ��$�� $�
��	 �$ � �(� ��$ ��/�	��
 � ��@ $�4�	�	��8 � ������	 ������� �� n
������ ���� �����	������ 	������	���� 	
 �  	���� ���� @	�� /������ C
� D�	���	�
 ��
n /� 	�
 �
 ��$�
� �� �$$	�	��A ��� 	���� ��$�
 �� ��� ���� ��� �� ����$ @	�� � 
	����0
/� 	� ���
������� C��� /� 	� 	� ���
 ��D� .� $�4�	�	�� ��� ���� 
� ���� �����
���$
 ��
���
������� ������� Q�3A ��� �	��� �� ���
������� ������� Q!3�
�����	�� 
��� � �	���	� ����
 �(�����	�� � ���� ���� ��� ���� �� � ����8 ��� /������

�	���	� 	� ��� ���� 	
 ����	�$ �� �� 	�	�	�� /������ 
����� :��� ����	���	�� �� � /������

��




 �
�	� �������� �� ��
���� ������	��

�	���	�  �����	�� �� �� 	���� ��$� 	
 �����@�$  � � 
	���� /� 	� ���
������� @�	��
$�����	��
 ��� ��-� 
� ���� ��$ ��� ��@ /������ 
���� ��� 
� �	���	� 	
 ����	�$ ���
�����$	�� �� ��� ������	 
�����
�� �� �������� 	������	���A E���
�������
 ��� ��0

@��
  � ��(�$ ���� �� 	������$	��� 
���� �� � /������ �	���	� �� ��� ��$ �� ��� �	���	�F
G�!�H� %� ����
�A 
��� � 
�	�� ��
 ��  � ������
���$  � 
��� ����� ������
 	� ���
/������ �	���	�� ��� ����
��� �� � /������ �	���	� @	�� 	������$	��� ���
�������
 ��
� /������ �	���	� @	����� ���� �	��� ���$ �� � ���� ������ /������ �	���	� C	� ���
��� �� �� ���������� /������ ����
D�
9��� ���� ��	
 �	���	� ��$�� @	�� 	������$	��� ���
�������
 
���
 ��  � $	I����� ��

��� �	���	� ��$�� C@	�� 	������$	��� ���
�������
D ������� $�
��	 �$  � 9	��
�� ��$
������ G�!�H� �����(��A ��� /������ �	���	� ��$��
 @	�� ��$ @	����� 	������$	���
���
�������
 ��� ��������	������ �/�	(�����A  �� 	� 	
 ��� /�	�� ����� ��@ ��� �	���	�

	2� �� � /������ �	���	� @	�� 	������$	��� ���
�������
 	
 ������$ �� ��� �	���	� 
	2� ��
	�
 �/�	(����� �	���	� @	����� 	������$	��� ���
�������
�

��"�� ������� ����	
$�� �
����
�

����� ��� �@� 	�������� ���
���
 �� /����	�� ��� E��
�
F �� � /������ �������8 4�
�A
��� ����� ��� �� �� /������ ����
 �������	�� � �	(�� ���������� ���� 
�� ��$A 
����$A
��� ��� �� �� /� 	�
 ���$�$ �� 	�������� ��� �	���	�� �� 4�$ ��� ���	��� /������
�	���	�  ��� ���������
 ��(� ��  � ���	�	2�$ @�	�� �	���  � � ���L	��	�� � ,���	(��
��@�(��A 
����
� � 
�J�	��� ��� �� �� /� 	�
 	
 �(�	�� ��� ����A ��� �J�	���� ���
��
�  � ���
���$  � ��� �	�� ��

	�� ���� ��� 	�	�	��	2��	�� �� ��� 
�
��� 
���� �� ���
4��� ���
�������A @�	�� �����
���$
 �� ��� ��� �� �� ��������	���� 
���
� ����A �
��������	���� 
��� ����
 ��� ����	���	�� �� C��-	�����D �������� /������ ����
� 6	����
���� �	(�
 �� �-������

�

��

�

≡

6	���� ����8 ��� ���� /������ �	���	� ���
	
�
 �� 4(� ���������� /������ ����
� �	���
�@� ��$����$ ����
  ����� ��$ ����� �"#$ ���� ���  � ����	�$ �������� ��� /������
�	���	� ���
	
�
 �� ����� ��������	���� 
���
� ��@�(��A ��� �	��� /������ �	���	� 	

�/�	(����� �� ��� ���� �	���	�  �� ���
	
�
 ���� �� � 
	���� �"#$ �����

�� ����
	�� ��� ��� �� �� /������ ����
 �
 � ���
���A ��� 
	���� ��	���� (�����	��
��$��A 	� ��A ���� ���� �����	 ���
 ��� 
��� ��
�
A ���  � �������$  � � ���� E����	
0
�	�F ���
���A $����$	�� �� � �����	� ���
	��� ����	2��	��A @�	�� �� �� @�	���
 ��� ��
�

�����$	�� �� ��� ���� ����� ��$����$��� �� ��� ���
	��� 	����������	�� 	� �	��� ��=�

��
�A ��� 	�
�����A �� ���� ���������$ ����
 �	���� ���� 
	���� /� 	� ����
�

��




�2 ��
���� ������
�	��
3 ����3�&	��

������	
��
  ��@��� /������ �����	���
 @�	�� �
� ������ ����
A 
�0�����$ /������
 ���=0 �- �����	���
A ��$ ���	� �����
���$	�� ���

	��� �����	���
 ���  �
�$ �� ��� ���0
 �� �� ����

�
 �� 	���� $���A ���� 	
A ��� ��� �� �� ������ ����
A 	�
���$ �� ��� ��� ��
�� ��������	���� 
���
A �� ��� ��� �� �� ���������� ����
 ��
����	(��� C��� ��
� ����	��
"�"D� ��	
 ������-	�� ���
��� 	
 ��
� $�����$ �
 ����� ��	
��-��� �� �������� ���� ��	�

��-���� %� ����
�A � ������	
�� �� /������ ��$ ���

	��� �����	���
 �� ���  �
	
 ��
������ ����
 	
 ���� ���
��� ��A 	�  ��� �����	���
 �
� ��� 
��� �������
.��	�$ ��	
 	
 ������� ��������	�� ��$��A ��� ������������� �� ����� 	����� ���	����


���=	��A 	� ��� /������ (��
	�� �� ��	
 ��$�� C$�����	�	
�	� ��$ ���$��	2�$ $��	
	��0
����
 ��� �@� ����� =	�$
D /������ �	���	�
 ��� 
��$	�$ @�	�� ���  � $�
��	 �$  � �
��	���� ����
������	�� A = UT · O · UT−1 · O · UT−2 · · ·O · U1 · O · U0A @���� ��� Ui
$����� 4-�$A 	����0	�$����$��� ��	���� ����
������	��
 ��$ ��� ���� O �� ������ ����
C	����0$����$��� ��	���� ����
������	��D� 5���(��� ���� ��� (	�@��	�� �� ������-	��
	
 ��� ��� �� �� /���	�
 T � � 
��(�� �� ��� $��	
	��0���� ��$�� ��$ 	�
 ������-	�� 	

�	(�� 	� G�&H�
<�� 	�(�
�	���	�� 
��� � ��
��	���$ ��$��S �
 	� 	
 ��� ��

	 �� �� ��=� $��	
	(�

������-	�� �������	��� 
��������
 	� ���� ��@����� ��������	�� ��$��
 C��	
 @���$
�����	
� ��� ��
@�� �� ��� /��
�	��A @������ /������ ������	�� 	
 ���� ��@����� ����
���

	��� ������	��DA 
	����� ��$ ���� �	�	��$ ��$��
 �� ��������	�� ��� �����2�$� ���
���� 	
 ���� ��$��
���$	�� �� 
��� ��
	�� ��$��
 @	�� ���$ �� �  ����� ��$��
���$	�� ��
��� ���� ������- ��$��
�

��# 
������ ��������	���� ������$	��

7	=� ����� ����	
	�� ���0
���$��$ ������	�� ���������
A /������ ������	�� ��	
�$ ���
���� ���� 9+0�������� ��� ���
 @�	�� 
��� ��  � 	������� �� ��� ���

	��� ��������

����$  � 
��(�$ �J�	������ )�� �� ��� ������ /��$���	� 
���$�� ��$ ��� ���	���	��
�� #��(��3
 /������ 
����� �����	��� C��� ����	�� "��DA 	� 	
 � (	��
 ���� ���������

��	���	��  �
�$ ���� C��
��������$D /������ 
����� ������ �	��$ �J�	��� 
����	��
 ��
��� ��� ���
 	� 9+A 	� ����	����� �� ��� 9+0�������� ��� ���
� ��	
 ���  � ���
	$���$
��  � �� 	�$	���	�� ���� ��� ���

 �� 9+0�������� ��� ���
 ������  � 
��(�$ �J�	�����
�� � /������ ��������� ��@�(��A �� �� ��@ ��	
 	
 ��	���� ���(�� ��� $	
���(���
����� ���� 9+0�������� ��� ���
A ����� ��� 
��� ��� ���
A @�	�� 
��� ��  � 	����0

��$	��� 	� $	J�����  ��@��� + ��$ 9+� ��� ���
� ��	
 ���

 �� C$��	
	��D ��� ���
 	

$�����$ 9+� C9+0	���������D ��$ 	� 	
 9+�8T9+09+�0+� 7�$��� G��H ��
 
��@� ����
9+� 	
 ��� �����A 	I 9+ �=+� ���
A 4�$	�� � ��� ��� 	� 9+� @���$ 
��(� ��� ��
� 	�0
������� ��$ �����
 ��� ��� 	� �������� 
�	����� 6�� 	�
�����A ��� $��	
	�� ��� ��� ��
������	���	 	
 �����$�$ �
 � ���$	$��� ��� 9+�� ������� ��� ��� @�	�� 	
 
�	��  ��	�(�$ ��

�	 ���� 
 ��������� ����%�� m 
�� l < m
 ������ ������� m �
� 
 ���������
� �
���� ���� ��
� l�

��




 �
�	� �������� �� ��
���� ������	��

 � 	� 9+� 	
 
��
� ���	��
���	� ���� ��� ���
 ������ ��  � ���$ ���

	�����A  �� ����
��� ������
  � 
��(�$ �J�	����� �� � /������ ��������A �
 	� @�
 
��@� ��� ������	���
������� �-����� ��� � ���

	����� ���$ ��� ���A  �� ��� ���(�� ��  � 	� 9+0��������A

@�	�� ������
 ���  � �J�	����� 
��(�$ �� /������ ��������
 	
 ��� �������� �������
������ 
�����	 C�;+D��� 7	=� ������	��A ��� $	J����� �� ��	
 ��� ��� ��
���
 
����	��
	� �� �	� =�� �������	�� 
�
���
 C � �
	�� ��� 	�(��
� �� ��	
 ��� ��� �
 � ���0@��
�����	��D� ��@�(��A ��� ���(� 	�	�� �� �	��	���	�3
 ��� �� �������	��� ���,������ @���$
���$ �� SV P ∈ NPC G�*!HA ��$ ��	
 @���$ ����� ���	�
� �� �J�	��� /������ 
����	���
6��� ���
� 
���� ��$ ��4�	
��$ ��L���	��
A 	�  �����
 ���(	��	�� ���� /������ ���0

���	�� ���$
 � 
������� ������-	�� ������ �� ��$��
���$ ��� ������	��
 ��$ �	�	���	��

�� /������ ������	�� �������$ �� ���

	��� ������	���
)	I����� ������-	�� ���
���
 ��� /������ �	���	�
 @��� �����$� �-���	��$ �� ��� ��$

�� ��� ��
� 
���	��� ������� ��������	�� ��$�� 	
 ��� %�����	  ����
 #������ C
��D
@�	�� 	
 ��� �-���	��$ ����� <�	�� /������ �	���	�
 C�	=� .������ �	���	�
D ��� � ���0
��	���� ��������	�� ��$��A  ����
� ���� ��(� ���� ���
���� 	���� ������A 
��
 C�	=�
���

	��� ��
D ��� ��	����A �
 ���� @��= �� �� 	����� 	���� ������
� �
 	� ���

	���
������-	�� ������A ��� ��	���� /������ ������-	�� �� ��������	���� ��� ���
 	
 ��
����	����� 	�����
�� ���������A ��������
 �� ��	���� .������ �	���	� ���	�	�
A ������	
������	 ������� ��	������� ��� ���
	$���$� ���� ����@ � ������	
�� �� ��� ��������	����
��@�� �� ��� ���� � 
����� 
��
 ��$ ��� ���� �����	��� C��	����D /������ �	���	�
8 ��
���  � 
��@� ���� 
��
 @	�� �������	�� ����	�� ���  � 
	������$  � ��	���� /������
�	���	�
 �� �������	�� 
	2� C@	��  ���$�$ ����� ��� � 	�	��D ��$ (	�� (��
� G�&�A �!�H� ���
G�!�H ��� � ���� $���	��$ 	�(�
�	���	�� �� ��� �/�	(������ �� ��� ��������	���� ��@��
 ��
��	���� /������ �	���	� ���	�	�
 ��$ 
��
�
��� �����@	�� ��������� 
�����	2�
 
��� ��
���
 � ��� /������ ������-	�� ���

�


C$�4��$ �(�� 
��
D ��$ ���	� �����	�� �� ���

	��� ������-	�� ���

�
� �� G��H .���
��	�
��$ ;�2	���	 	����$��� /������ ��������
 �� ��� ���

	��� ������-	�� ���

�
 0 ��$
.00�� /%0 �����
���$
 �� + ��$ $�����
 ��� ���

 �� ��� ���
 
��(�$ �����0���� ��
� 
�� 	� �������	�� �	��� .%0 A ��� /������ (��
	�� �� .++A $�����
 ��� ������-0
	�� ���

 �� ��� ��������	���� $��	
	�� ��� ���
 ���� ���  � 
��(�$ @	��  ���$�$ �����
��� � 	�	�� �� � 
�� 	� �������	�� �	���

��'�� �������� �
����� ������ ������� �������� �� �����% ��� �������� ���������
� ������ �� 
 �
����� L
%����
��� �� d ����
� ����������� ������� �� ��� ������ ��
�� Qd

��) ������� (�
���� ������� �
���� �� 
� ������� ��(����� �� �������� Cn ��� �
�� ����� ���%�� n ����
��
� Cn �
� �� %����
��� �� 
 8'� �� ����� n �� ��������
� ���� O(poly(c(n))) ����� c(n) �� ���
��9� �� (�
���� ������� Cn �
��� �� 
 %���� �������
�� %
�� ����

��2:: 1����
�������� ��������
� ���� ������� �����3 �� ��� ��
����
� ������	��� ��
�� �� �������� �����
���� ��
� �
� �� ������ �� ��������
� ���� �� 
 ����
�������� '����% �
����� ���� ������� �����
����
�������

�!




�4 �
�	� *����
��	�� $����	5��� 
�� �	��3� ��
���� ,3���	����

��@ :
+ ��$ .
+ �-����� ������ �� ��� ���

	��� ������-	�� ���

�
 +A 9+A ++��A
.++ ��$ +�+��:�� 	
 ��=��@�� <��� 	
 =��@� 	
 ����

BPP ⊆ BQP ⊆ PP ⊆ PSPACE ��$ P ⊆ EQP ⊆ BQP .

�� 	
 
�	�� �� ���� ��� ��� �� $�����	�� @�	�� �� ��� 	����
	��
 ��� ������ 	����
	��
 ��$
@�	�� ��� ���� :
���	���� 	� 	
 ��� ���(�� ���� BQP �= BPP A ���� 	
A ���� /������
��������
 ��(� ���� 	�	�	�
  ����$ ���
� �� ���

	��� ��������
A �������� ����� 	
 
�����
�(	$���� 
����
�	�� ��	
�

��% &�
	� ��������	�� �����	'��
 ��( �	���� 
������

)����	���


�� 	
 ����	�� ���� �����	� ��������	���� ��� ���
 ���  � 
��(�$ �� � /������ ��������
@	�� � ��@�� ������-	�� ���� ��

	 �� �� ���

	��� ��������
 
	��� ����� ��� ��� ���

@�	�� ��� �J�	����� 
��(� ��  � /������ �����	���
  �� ��� ���

	����� �� �� ��@� ��
$�	�� 
�A /������ �����	���
 ��=� �$(������ ��  �
	� ��������	���� �����	/��
A ������
��
��
���������
 A ������	 
���������	 ��$ ������	 ������������� �$$	�	������A ������

��	��� 
���
 ��  � � 
����� �� ��������	���� ��@�� /������ �����	���
 ���  ���4�
�����
�� ��	
 
���	�� ���$������� ��������	�� �����	/��
 ��� $	
��

�$ �� ���  �
	
 �� ���


	���� /������ �����	���
 ��� )���
��3
 ��� ��� �� 	�
 �������	2��	��A ��� )���
��01�2
�
��� ���� ��
�A � /������ �����	��� ��� /������ ����������	�� 	
 �-���	��$A $����0

����	�� ��� ��@�� �� /������ ������������� .��� ��� ���
A /������ ����������	��
��$ )���
��01�2
�A @��� �����$� �
�$ �
 ��
� ��� ���
 ��� /������ �	���	� �(����	�� C���
������� *��D�

��%�� &'
 �
����'()�*�� +��
	
�

#	(�� � .������ �����	�� f : {0, 1}n → {0, 1} �
 �  ���=0 �-A ����	
�$ ��  � �	����
��������A f(x) = c,∀x ∈ {0, 1}n ��$ c ∈ {0, 1}A �� ��������A 	� ��A �
 ��� ��
��� �� f A 0
�����
 �
 ���� �	��
 �
 1A ��� '�������(�)�� 
�����	 C)1 ��� 
����D 	
 �� $�����	��
@�	�� �� ��� �@� �������	�
 f ��
� ��	
 ��� ��� 	
 ��
� �������$ �� �
 ��� ����� 
��	���

�����	� 6�� n = 1A ��� ��
= 	
 ��
� =��@� �
 '�������� 
�����	�
��� ��� �� �� .������ �����	��
  �	�� �	���� ���
���� ��  ������$ ������
 �� 2 +( 2n

2n−1

)
� �� ���

	��� C$�����	�	
�	�D ������	�� f A ��
 ��  � �(������$ 2n−1 + 1 �	��
 	�

��� @��
� ��
�K 	� /������ ������	�� � 
	���� ����	���	�� �� ��� �����
���$	�� 	����

��:: �� ��� ��
����
� ������	��� ��
�� �� �������� ������ �� �
�����9�� 
�%������� ���� ���������
����� ����
�������

��:;:)+6 �� ��� ��
����
� ������	��� ��
�� �� 
�� �������� �������� ����� �
� �� ������ �� 
 �������������
'����% �
����� ����% ��������
� ��
�� 
�� 
�����
�� �����

��




 �
�	� �������� �� ��
���� ������	��

⎛⎜⎜⎝
(−1)f(00) 0 0 0

0 (−1)f(01) 0 0
0 0 (−1)f(10) 0
0 0 0 (−1)f(11)
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(−1)xz|z〉 ,
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�⊗n|x〉 =
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∑
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������	�� Ug 
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	��� �	���	� ��������	��
(x, g(x))A 
��� ���� |x, y〉 → |x, y ⊕ g(x)〉 ��� ��� y ∈ {0, 1}m� ���	����� /� 	�
A @�	��
��� ���$�$ �� 	�������� ��� ��(��
	 �� �	���	� ��� ��	���$�
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������	�� Uf A $�
��	 �$ � �(�A 	
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������$ �� ��� �	(�� .������ �����	�� f : {0, 1}n → {0, 1}� �� |y〉 	
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|0〉A 	� ����	(�
 ����� �����	�� Uf ��� ������ �� f(x) ��$ ��� ��
���	�� 
���� 	
 |x, f(x)〉�
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� ��@ �����
 �� ��� �I��� ��
���	�� ���� ��� ����	���	�� �� Uf ��
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|ψ〉 = �⊗n|0〉 =
1√
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∑
z∈{0,1}n

|z〉
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Uf |ψ, 0〉 =
1√
2n

∑
z∈{0,1}n

|z, f(z)〉 , C���D
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	�	�� |φ〉 := 1/

√
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	���� ������ /� 	� ���$
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Uf |x, φ〉 =
1√
2
(|x, f(x)〉 − |x, 1 ⊕ f(x)〉) = (−1)f(x)|x〉 1√

2
(|0〉 − |1〉) = (−1)f(x)|x, φ〉 .
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|0〉⊗n|1〉 �
⊗(n+1)

−→ 1√
2n

∑
z∈{0,1}n

|z〉
[

1√
2
(|0〉 − |1〉)

]

�� ��������� f 	� ��������8

Uf−→ 1√
2n

∑
z∈{0,1}n

(−1)f(z)|z〉
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(|0〉 − |1〉)

]

�� ���
	$�� ���� ��� n0/� 	� ���	
��� ��$ ���
� 	�����������  � �����	�� �⊗n8

�⊗n

−→ 1
2n

∑
z∈{0,1}n

∑
x∈{0,1}n
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�� � ��������
 ��	
 /� 	� @	�� ��� 
����� /� 	� C6	���� ���*A �	$$��DA @	�� ��� ��
���8

1/2 [(α|0〉 + β|1〉)|00〉 + (α|1〉 + β|0〉)|01〉 + (α|0〉 − β|1〉)|10〉 + (α|1〉 − β|0〉)|11〉] .
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(α|1〉 − β|0〉)|11〉 �"#$−→ (α|0〉 − β|1〉)|11〉 �!−→ (α|0〉 + β|1〉)|11〉 .
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��	7�
�	��

������� ��������� �	�	�� %�����	 
���� ����	�����

�� ������ ��� �/����� @�	����$ 
������
	�	��8

|0〉|u〉 �
⊗n

−→ 1
2n/2

2n−1∑
j=0

|j〉|u〉

�� ����� ��� /������ ������8

Uj−→ 1
2n/2

2n−1∑
j=0

|j〉U j |u〉 =
1

2n/2

2n−1∑
j=0

e2πiφj |j〉|u〉

�� ��������� ��� 	�(��
� /������ 6���	�� ����
���� ��$ ���
��� ��� 4�
� ���	
���8

QFT−1

−→ |φ̃〉|u〉 M1−→ φ̃

����� ���
�(.������ ��� ��'
� ���	��������

��� �����������
 
�����	 ���$
 �
 �����@
8 ��� x,N ∈ NA x < N A gcd(x,N) = 1A
$�����	�� ��� ���
� r ∈ NA 
��� ���� xr = 1modN � �� 	
  ��	�(�$ ��  � � ���$ ��� ���
�� ���

	��� ��������
� 7�� n = �logN�  � ��� ��� �� ��  	�
 ���$�$ �� 
���	�� N � ���
/������ �����	��� ��� ��$��04�$	�� 	
 ,�
� ��� ���
� �
�	���	�� �����	��� ����	�$ ��
��� ��	���� �������� U |y〉 ≡ |xymodN〉 @	�� y ∈ {0, 1}n ��$ |u〉 = |1〉A � 
������
	�	��
�� �	���
����
 �� U C��� N ≤ y ≤ 2n − 1A $�4�� xymodN := yD�
��� ���	�� 
�/����� �� ���������$0U2l

������	��
 ���  � 	���������$ �J�	����� �
	��
	������ �-
�����������8 �� 	


|z〉U z |y〉 = |z〉U zt−12t−1
. . . U z02

0 |y〉
= |z〉|(xzt−12t−1 × . . .× xz020

)ymodN〉 = |z〉|xzymodN〉 .

�� � 4�
� 
��� ��$���� ����	��	���	�� 	
 �
�$ �� ������� 
����

	(��� C � 
/���	��D
x2j

modN ���� x2j−1
��� ��� j = 1 . . . t− 1� �� � 
����$ 
��� xz modN 	
 ���������$  �

����	���	�� ��� t ����
 (xz
t−12t−1

modN) . . . (xz02
0
modN)� %� ���  �
	
 �� ��	
 �����0

$��� ��� ���
�����	�� �� ��� /������ �	���	� ������	�� U z : |z〉|y〉 −→ |z〉|xzymodN〉
	
 
���	������@��$A �
	�� O(n3) ����
 	� ������
�� ������� ��� ���
� �
�	���	�� �����	���A �� �	���
���� �� U @	�� � �����	(	�� �	���0

(���� �� � 
������
	�	�� �� 
��� �	���
����
 ��
 ��  � �������$� ��� �	���
����
 �� U

*�



��� $�� ��
���� 1���	�� $�
������ 
�� ,3���	���� �
��� �� ��

���

|us〉 ≡ 1√
r

r−1∑
k=0

ω−sk
r |xk modN〉 ,

��� 0 ≤ s ≤ r − 1� �	��� 1/
√
r
∑r−1

s=0 |us〉 = |1〉 	� 	
 
�J�	��� �� ����
� |u〉 = |1〉�
9�@A �����	�� ��� ���
� �
�	���	�� �����	��� �� t = 2n+1+�log(2+1/2ε)� /� 	�
 	�

��� 4�
� ���	
��� ��$ � 
����$ /������ ���	
��� �������$ �� |1〉 ���$
 @	�� � ��� � 	�	��
�� �� ���
� (1− ε)/r �� �� �
�	���� �� ��� ���
� φ ≈ s/r @	�� 2n+ 1  	�
 ��������� 6���
��	
 ��
���A ��� ��$�� r ���  � ���������$ ���

	����� �
	�� �� �����	���A =��@� �
 ���
��������� �������� �-
������� �� �J�	����� �������
 ��� �����
� �����	�� �� �@�  ���$�$
	������
 �� φA 	� �� �@� 	������
 s′A t′ @	�� �� ������ ������A 
��� ���� s′/r′ = s/r�
'�$�� �����	� ���$	�	��
 ��	
 ���

	��� �����	��� ��� ��	�A  �� ����� ��� ����� �����$
 ��
�	����(��� ��	
 ��� ��� G�!�H�

�� ����	���	�� �� ��� ��$��04�$	�� /������ 
� ����	�� 	
 ����3
 ������	2��	�� ����0
�	��� G���A ���H� %���� ��� ���
 @�	�� ���  � 
��(�$ �
	�� ��� ��$��04�$	�� �����	���
��� ���	�$04�$	�� ��$ ��� $	
����� �����	��� ��� ���� ���
� ��$ 
��� ����� ��� ���

���  � ���
	$���$ 	� � ���� ������� �����-�A @�	�� @	��  � �-���	��$ 	� ��� �����@	�� �@�

� 
���	��
�

������� ��������� �	�	�� �����������


�� ������ 
������
	�	��8

|0〉|1〉 �
⊗n

−→ 1
2t/2

2t−1∑
j=0

|j〉|1〉

�� ����� ���  ���=0 �- ������ Ux,N : |j〉|k〉 → |xjkmodN〉A @	�� x ��0��	�� �� N 8

Ux,N−→ 1
2t/2

2t−1∑
j=0

|j〉|xj modN〉 ≈ 1
2t/2
√
r

r−1∑
s=0

2t−1∑
j=0

e2πisj/r|j〉|us〉

�� ��������� ��� 	�(��
� 
6� �� ��� 4�
� ���	
��� ��$ ���
��� ��	
8

QFT−1

−→ 1√
r

r−1∑
s=0

| ˜s/r〉|us〉 M1−→ | ˜s/r〉

*�
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����� .����
� &�������� �� ��
����� ������

��� ���� ������� $�4�	�	�� �� ��� 6���	�� ����
���� 6�G �� �� �� 	����� ����� G ���$


���  ��=�����$ 	� ���� �� ��$ 	� �����
�����	�� ������ �(�� 4�	�� �����
� ��� �������
� 	� G&�H �� �����$	- � 	� G�!�H ��� �  �	�� 	����$���	�� 	� ��� ��/�	��$ ��������	�
�
7�� G  � � 4�	�� ����� �� ��$�� N ��$ f : G→ C� ��� 7������ ��������	 �� f �� ���

����������� ��
������������ ρ �� G C$�����$ f̂(ρ)D 	
 $�4��$ ��  � ��� dρ × dρ ����	-

f̂(ρ) =

√
dρ
N

∑
g∈G

f(g)ρ(g) . C"��D

��� �������	�� �� ����	��
 〈f̂(ρ)〉ρ∈Ĝ 	
 $�
	�����$ �
 ��� 7������ ��������	 �� �� ���
A

��� 6���	�� ����
���� ���
 f 	��� |Ĝ| ����	��
 �� (���	�� $	���
	��
 @�	�� ��(� �������∑
ρ d

2
ρ = |G| ����	�
� ��	
 ����
 ���� ��� |G| ������- ��� ��
 〈f(g)〉g∈G ��� �����$

	��� |G| ������- ��� ��
 �����	2�$ 	��� ����	��
� 6����������A ��� 6���	�� ����
����

	
 �	���� 	� f Cf̂1 + f2(ρ) = f̂1(ρ) + f̂2(ρ)D ��$ f̂(ρ) 	
 ��	���� ��� ��� ρ ∈ Ĝ�
�� G 	
 � 4�	�� � ��	�� �����A ��� 	���$��	 �� �����
�����	��
 ��(� $	���
	�� ���� ���
A

��� �����
�����	��
 �����
���$ �� ��� |G| C	���$��	 ��D ���������� χ : G −→ C× �� G� �� 	

(G,+) � (Ĝ, ·)� ��	
 	
 /�	�� �
���� �� 
	���	�� ��� �����	��  � ����
	�� �� 	
������	
�
g �→ χg�
<	�� ��� ������	�� (χ1 · χ2)(g) = χ1(g) · χ2(g) ��� 
�� Ĝ �� ��� ���������
 �� G 	


�� � ��	�� �����A �����$ ��� ���� 
���
 �� 3� ��� (���� χ(g) 	
 � |G|th ���� �� ��	��A
	� �� χ(g)|G| = 1� 6�� 	�
�����A 	� G = ZN ���� ��� ����� �� ���������
 	
 ��� 
��
{χk(j) = ωjkN |j, k = 0 . . . N − 1} ��$ ��� 6���	�� ����
���� �����
���$
 �� ��� ���

	���
)6�� 6�� G = Zn2 ��� 6���	�� ����
���� 6�Z

n
2
�����
���$
 �� ��� ��$����$ ����
����

�⊗n�
.� ��� 
�������� ������� �� 4�	�� � ��	�� �����
A G 	
 	
������	� �� ���$���
 �� ����	�

�����
 Zpi �� ��	�� ��@�� ��$�� @	�� �$$	�	�� ��$��� pi  �	�� ��� ����� ������	��A 	� ��
G � Zp1 × . . . × Zpm� ��� g ∈ G ���  � @�	���� �/�	(������� �
 (g1, . . . , gm)A @����
gi ∈ Zpi � ��	
 ��������� ���$
� �� ��� $�
��	��	�� �� ��� ���������
 χG �� G �
 ���
���$��� �� ��� ���������
 χZpi �� Zpi � �� 	


χGh (g) =
m∏
i=1

χ
Zpi
hi

(gi) =
m∏
i=1

e2πigihi/pi = e2πi(
∑

i gihiqi) ,

�) ���������
���� ρ �� 
 ����� %���� G �� 
 ������������ ρ : G −→ GL(V )
 ����� V �� 
 C�������
��
��� '�� ��������� �� V �� �
���� ��� ��������� �� 	�� ��
�����	
	��� ρ
 ������� dρ� ρ �� �
�� ��
�� �����������
 �� �� ����� �����
��� W 
�� G����
��
��
 �� �� ρ(g)W ⊆ W, ∀g ∈ G
 �	���� 0 
�� V �
B� �� �����������
 
 ����� %���� �
� 
 ����� ������ �� ����������� ���������
������ Ĝ ������� ����

 ��� �� ����������� ���������
�����
 ����� �� 
 �������� ������ �� ���������
����� �� 
�� �����������
��
�����

�'�� ��������% �
����% �� ����C (g1, . . . , gm) �→ ∏m
i=1 χ

Zpi
hi

(gi)

&!
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������ 
�� ,3���	���� �
��� �� ��

@	�� h = (h1, . . . hm) ��$ qi := N/pi� 9��� ���� χh(g) = χg(h)�
<	�� :/���	�� "��A ��� 6���	�� ����
���� �� � �����	�� f : G→ C ���  � @�	���� �


f̂(h) =
1√
N

∑
g∈G

f(g)χg(h) ,

@	�� h ∈ G� '
	�� ��� ���(���	���� �����	��A ��� 
6� �� �� � ��	�� ����� G ���
 ��
���  �
	
 
����
 �
 �����@
8

QFTG|h〉 =
1√|G|∑

g∈G
χg(h)|g〉 .

����! &'
 0���
� ��
����� +��
	
�

9����� ��� =��@� ��� ���
 ���� ��(� � /������ �����	��� @�	�� ���(	$�
 �� �-��0
����	�� 
���$�� �(�� ���  �
� =��@� ���

	��� �����	��� ���  � ���������$ �
 � ������
���
���
 
�����	 C��+D� +�� ��� 	�
�����
 ��� ��� �-����� ��$��04�$	��A ���	�$04�$	��
��$ $	
����� �����	��� G�!A �!*H� ��� ��+ 	
8

7�� G  � � 4�	���� ��������$ �����A H < G � 
� �����A X � 4�	�� 
�� ��$
f : G → X � �����	�� 
��� ���� f 	
 ���
���� �� ��
��
 ḡ = gH ∈ G/H ��$
��=�
 $	
�	��� (����
 �� $	
�	��� ��
��
A 	� �� f(ḡ1) �= f(ḡ2) ��� ḡ1 �= ḡ2� 6	�$
� �������	�� 
�� ��� HR

)�4�� H◦ := {g ∈ G : χg(h) = 1, ∀h ∈ H}A ��
� �����$ ��� ����������� 
���
 �� H�
9��� ���� H◦ 	
 �/�	(����� �� ��� ���� 
� ����� H⊥ = {χ : H ⊆ kerχ}A @�	�� 	� ����
	
 	
������	� �� ��� $��� �� G/H� ��� �����	��� ��� 
��(	�� ��� ��+ �
�
 ��� �����@	��
�@� �������	�
 �� ��� 6���	�� ����
���� �(�� G G&�A �*�H8

• ��� 6� �� ��� ����������� ∗ �� �@� (�����
 	
 ��� ��	��@	
� ���$��� · �� ��� 6� ��
���� (�����8

QFT (
∑
k

αk|k〉 ∗
∑
l

βl|l〉) =
√
|G|
[
QFT (

∑
k

αk|k〉) ·QFT (
∑
l

βl|l〉)
]
. C"�"D

• ��� 
������
	�	�� 
����A ��	���� �� HA 	
 �����$ �� H◦8

1√|H|∑
h∈H
|h〉 QFT−→

√
|H|
|G|

∑
k∈H◦

|k〉 . C"�*D

&�
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'
	�� ��	
A 	� �����@
 ��� � ��
�� 
���� 1/
√|H|∑h∈H |g0h〉8

1√
|H|
∑

h∈H |g0h〉 = |g0〉 ∗ 1√
|H|
∑

h∈H |h〉
QFTG, Eqs. 4.4, 4.5−→

√
|H|
|G|

[
(
∑

g∈G χg(g0)|g〉) · (
∑

k∈H◦ |k〉)
]

=
√

|H|
|G|
∑

k∈H◦ χk(g0)|k〉 .

��A ��� 
6� ��=�
 � ��
�� 
���� �� ��� ���	�	����� ����� 
���� �� ��� �����
���$	��

� ����� @���� ��� ��
�� 	
 ����$�$ 	� ��� ���
� �� ���  �
	
 (�����
�
�

��� ���� G 	
 � ��	��� � �� �	$ �����	��� �� 
��(� ��� � ��	�� ��+ ���
	
�
 ��

��� �����@	�� /������ 
� ����	��8

������� ��������� �	�	�� 4������ *�0

�� ������ � ���$�� ��
�� 
����8

|0〉|0〉 QFTG⊗I−→ 1√|G|∑
g∈G
|g〉|0)〉 Uf−→ 1√|G|∑

g∈G
|g〉|f(g)〉 M2−→ 1√|H|∑

h∈H
|g0h〉

�� 6���	�� 
����� ��� ��
�� 
����8

1√|H|∑
h∈H
|g0h〉 QFTG−→

√
|H|
|G|

∑
k∈H◦

χk(g0)|k〉 M1−→ ki ∈ H◦

Mi $�����
 ��� ���
������� �� ��� i0�� /������ ���	
���� ��� �����

 �� ������	��
��� 6���	�� ����
���� �(�� � ����� G ��$ ���
��	�� 
� 
�/������ 	
 ��
� �����$ 7������
��	
���
 � ����� �����	�� M2A 	� 	
 
�J�	��� �� � 
��(� ��� 4�
� ���	
���� ��� ��
� ���0

������� ��
���
 	� ��� ��� �� |G|/|H| �������
 ki ∈ H◦ @	�� ��� � 	�	�� |H|

|G| � 5�����	��
��	
 �����

 t = poly(log |G|) �	��
 G&�H ���$
 �� � 
�� �� �������
 @�	�� $�
��	 � ���
χi ∈ H⊥� ���
A H ���  � ���

	����� �������$ �
 ��� 	����
���	�� �� ��� =�����
 �� χi8
H =

⋂t−1
i=0 kerχi� ��� �J�	��� /������ �	���	� ��� ��� � ��	�� ��+ 	
 
��@� 	� 6	����

"���
#������	2��	��
 �� ��� � ��	�� ��+ /������ �����	��� �� ��� ���0� ��	�� ��
� ��(�

 ��� ��������$  � ���� ������
 G��&A "�A *!A &�A &�A *�A ��HA ������������� ���� @	��
�	�	��$ 
����

� '� �� ��@A ��� ��� ��� 	
 
�	�� ����A �-���� ��� ���� � ��@ ����	�����
	�
�����
�

����" � �����
 ���	��
 �� �.&(
��
� �	�����'��

�� �� "�� 
��@
 �� �(��(	�@ �� ��� ���
 �J�	����� 
��(� ��  � ����
 �� /������ ��0
���	���
  �
�$ �� ��� 
6�� ��� �����@	�� �-������	��
 ��$ �������	��
 ����� �� 
	����
��� ���
 �	(��  ���@ 	� ��� �� ���

&�
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|0〉

|0〉

QFTGQFTG

Uf

�

�

6	���� "��8 � /������ �	���	� ��� ��� � ��	�� ��+�

�*��	
� ����� ��
*	�	.�� ���*���/ 7�� G  � �� � ��	�� ����� ���	�� �� � 
�� U� 6	�$
��� 
�� 	�	2�� Gx := {g ∈ G|g · x = x} ��� x ∈ X�

'�������	�� !�	�� �*��	
� ������/ ��� 4�	�� � ��	�� ����� G 	
 	
������	� �� �
���$��� �� ����	� �����
� 6	�$ 
��� � $������
	�	��� 6�� ���� �����
 �� ���

	���
�����	��� 	
 =��@� @�	�� �������
 ��	
 ��
= �J�	������

��� /������ �����	��� $�
��	 �$ 	� G�!H ��	��� �
�
 ��� /������ �����	��� ���
��+ �� 
��(� � ����	�� ��� ���� ��� ��
� 	
 $��� ���

	������

�� ����	���	�� �� ��	
 �����	��� 	
 ��� �J�	��� ������	�� �� ���

 ��� ��
 C�
0

��	�� ��� #������	2�$ 5	����� �������
	
D G�&�H�

'����� 0� ���*���/ )�����	�� @������ �  ���=0 �-  	���� �����	�� f : {0, 1} → {0, 1}
	
 ���
���� C��  ������$D C��� ����	�� �����D�

1	���� �	��
� �����	�� ���*���/ 7�� f : Zk → S  � � �����	�� ��� �� �� 	����� ����� S
@	�� f(x1, . . . , xk) = h(x1 + α2x2 + . . .+ αkxk) ��� � �����	�� h @	�� ���	�$ q ��$
αi ∈ Z� 5���(�� ��� (����
 �� ��� ��� αi(mod q) ���� �� ������ ��� f � ��	
 ��� ���
	
 �� 	�
����� �� ��� ��+�

����� ������� ���*��� 2�������	�34
.	�
�	5/ 6�� a ∈ {0, 1}nA ��� fa : {0, 1}n → {0, 1}
 � $�4��$  � fa(x) = a · x� ��������� aR ��	
 ��� ��� 	
 ��� $	������ �� 	�
�����
�� ��� ��+� 9�(�������

A 6���	�� 
����	�� ����
 4�$	�� � 
����	��A ����

(����� �� !�	�� ����
*�� ������/ ��� ��� ��� 	
 $�
��	 �$ 	� G�&�H�

����0� "6�
�	��/ #	(�� � ��
	�	(� ���0
/���� 	������ dA +���3
 �/���	�� 	
 x2 − dy2 = 1�
6	�$ 	������ 
����	��
� ��� /������ �����	��� $�(�����$ 	� G&�H ���������
 ���
��������� �� ��� �	�� Z[

√
d]A @�	�� 	
 � ���
��� ������$ ��� ���� ��� ����

���

 ��=�����$ 	� ��������	���� ���� ��	� ��� �� ������ ���  � ����$ 	� G��H� ���
/������ 
��� 	� ��	
 �����	��� 	
 � �����$��� �� �J�	����� �����-	���� ��� 	���0
�	���� ���	�$ S �� � �����	�� 	� �	�� �������	�� 	� lnS�

��	��	�
� 	��
� ���*���/ #	(�� �� 	$��� IA $�����	�� C	� �-	
�	��D �� α ∈ Q(
√
d) 
���

���� I = αZ[
√
d]� ��� �����	��� ��$���
 �� � $	
����� ��� ���� ��� ����
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- 	���� 7������� �&�*�� ���*��� 2-7-�5/ #	(�� � �����	�� fs ��$ �� �$$ ��	�� p


��� ���� fs(x) =
(
x+s
p

)
A ��� ��� x ∈ ZpA 4�$ 
R ;��	���
 �� ��	
 ��� ��� ��� ���

������� (����� ��	��� 
�����	 ��$ ��� 
�	���$ (��
	�� �� ��� /��$���	� ��������� χ
�(�� 4�	�� 4��$
 Fq C������� ��������� ��������� 
�����	D� ��� ���

	��� ������-	�	�

�� ���
� ��� ���
 ��� ��=��@��

-	���0� ���*���/ 7�� a ∈ {0, 1}n ��$ f : {0, 1}n → {0, 1}n � �����	�� @	�� f(x⊕ a) =
f(x) C⊕8  	�@	
� -��D� ��������� aR �	���3
 ��� ��� @�
 ��� 4�
� ���� @�
 
��@�
�� ��(� �� �-�����$ �������	�� �	�� /������ �����	���  �� �� �������	�� �	��
���$��	2�$ �����	��� G��"H� .��

��$ ��$ �V��� $�(	
�$ 	� G��H �� �-��� /������
�������	��0�	�� �����	��� �� 
��(� ��	
 ��� �����

�@� ����� ����
������	��
 @�	�� ���  � ����(���$ ���� ��� )6� ��� ��� ��������
������ ��������	����� ��$ ��� �������� ���� ��������	������ �� G�&H B��������=�� ��$
5M������ 
��@ ����  ��� ����
������	��
 �� 
	2� N × N ��$ ����
 �0�; ���  � ����	2�$
	� O(log2N) ������	��
 �� � /������ �������� 	�
���$ �� O(N logN) �� � ���

	���
��������� ������� ���

 �� ��	���� ����
����
A ��� @�(���� ����
����
A ��� �J�	�����
	��������� �� �� � /������ ��������A �
 
��@� 	� G*�H� 6�� � �����	� @�(���� ����
����A
� /������ �����	��� 	
 $�
	���$ �
	�� ��� 
6��

��� 
������ ������ )����	���


������ ��� ���
 ��� @���0=��@� ��$ 	����
	(��� 	�(�
�	����$ 	� �������� 
�	����� #��0
������ 
��=��A � 
����� ��� ��� 	
 �� 4�$ ��� �� ���� �������
 	� � C4�	�� �� 	�4�	��A

��������$ �� ��
��������$D 
����� 
����A @�	�� ���� �����	� �������	�
�
�����
�A � ����� $��� �
� �����	�
 N � 1 	���
 	� � ���$�� ��$��� %� � ���

	���

�������� 	� ��=�
 O(N) ������	
��
 �� $�����	�� ��� 	��� 
������$ ���� ��@�(��A
����� 	
 � /������ 
����� �����	���A ��
� �����$ 3������� ��
�����	A @�	�� ��/�	��
 ����
O(
√
N) ������	��
� #��(��3
 �����	��� 	
 ���	��� ��� ��
��������$ 
����� ��� ���
�

��
� 	� 
��� ��
�
 �� 
��������$ 
����� 
����
 /������ �����	���
 ��� $�  ����� ����
���

	��� �
 $����
�����$  � ����3
 �����	��� ��� �0��� ��$ �	���� ���
���	��$ k0����

����� ����
�1� �	�����'�

�� 	
 �

���$ ���� N = 2n� ��� $��� �
� 	
 �����
����$  � � �����	�� f @�	�� ��=�

�
 	���� �� 	������ xA 0 ≤ x ≤ N − 1 C��� $��� �
� 	�$�-DA @	�� f(x) = 1 	� x 	
 �

����	�� �� ��� 
����� ��� ��� ��$ f(x) = 0 �����@	
�� 7�� L  � ��� 
�� �� 
����	��
A
	� ��A L = {x|f(x) = 1, x ∈ {0, . . . , N − 1}} ��$ M = |L| ��� ��� �� �� 
����	��
�

�7�� ��
� ������� ���� ���� 
 %����
��9�� ������� �� ���  ����� ����
��� 1��� ;������ A�@�!3

&"
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C$	
�����D 
6� Θ(n2) �� G�*A ���H
O(n log n) ��
�� G&&H

)���
��† � ������ /���� G"�A ��H
)���
��01�2
�† � ������ /���� G"&A ��H
.���
��	�0;�2	���	 � ������ /���� G��H
�	���† O(n) ������ @	�� G��"A ��*A ��H

� ������ /���� ����
+��	�$04�$	��† � ������ /����A G�!�H
� @	�� f(x+ r) = f(x)A O(n2) ������	��

x, r ∈ N0A 0 < r < 2nA
� ���	�$	� �����	��A ������ �R
+��
� �
�	���	�� O(n2) W � ������ /���� G�!�H
%�$��04�$	��† O(n3) G���A ���H
6�����	��† O(n3) ������	��
A G���H

O(n2 log n log log n) G���H
)	
����� �����	���† ������ �	�� 
� G���H
�	(��8 a, b = as modN K
$�����	�� s
�	$$�� �	���� �����	�� ��� ���
† ������ �	�� 
� G��H
� ��	�� 
�� 	�	2��† ������ �	�� 
� G�*H
��	���$ 7����$�� 
�� �� ��� ��� ������ �	�� 
� G�*�H
��$ (��	���

������	�� ��$��
 �� ������ �	�� 
� G�&�A ��H
4�	�� 
��(� �� �����

)������
	�� 6	�	�� ������ �	�� 
� G�!H
� ��	�� #����

+���3
 :/���	�� > ������ �	�� 
� G&�H
+�	��	��� �$��� +�� ���

�� �� "��8 ��� /������ 6���	�� ����
���� ��$ �����	���
  �
�$ �� 	�� +�� ���
 ���=�$
@	�� † ��� 
���	�� 	�
�����
 �� ��� ��+� ��� ��������� n 	
 ��� 	���� ������ �� ��� �	(��
��� ����
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6����������A ���  �

|α〉 =
1√

N −M
∑
x/∈L
|x〉 , |β〉 =

1√
M

∑
x∈L
|x〉

��$

|φ〉 =

√
N −M
N

|α〉+
√
M

N
|β〉 =

1√
N

N−1∑
x=0

|x〉 .

��	
 �����	��� @��=
 �� �@� /������ ���	
���
 |x〉|y〉A @���� |x〉 	
 ��� 	�$�- ���	
���
��$ |y〉 	
 � 
	���� ���	��� /� 	�� 7�� Uα  � ���  ���=0 �- @�	�� �������
 f � ����A
����	�$ �� ��� 
���� 1/

√
2|x〉(|0〉 − |1〉)A ��� ������ E���=
F ��� 
����	��
  � 
�	��	�� ���

���
� �� ���� 
����	�� C
�� ����	�� ���8 ������	�� � �����	�� 	��� ��� ���
�D� �����	��
��� 
	���� /� 	� ���	
���A ��� ���	�� �� Uα ���  � @�	���� �


|x〉 −→ (−1)f(x)|x〉
��

Uα = I − 2|β〉〈β| .
#������	�����A Uα 	�$���
 � ��L���	�� � ��� ��� (����� |α〉 	� ��� ����� $�4��$  � |α〉
��$ |β〉� ������� 	�������� ������	��A $�����$ @	�� UφA 	
 ��� 
�0�����$ ��������� �����
��� 	���8

Uφ = �⊗n(2|0〉〈0| − I)�⊗n = 2|φ〉〈φ| − I . C"�&D

�����	�� Uφ �� � ������� 
���� |a〉 =
∑

k αk|k〉 ���$
 ��

Uφ|a〉 = 2|s〉〈s|a〉 − |a〉 = 2
∑
k

A|k〉 −
∑
k

ak|k〉 =
∑
k

(2A − ak)|k〉

�
	�� ���� 〈s|a〉 = 1√
2n

∑
k ak =

√
2nAA @���� A = 1

2n

∑
k ak 	
 ��� ���� �� ��� ����	0

��$�� ���
A ��� ����	��$�
 ��� ����
�����$ �
 Uφ : ak → 2A − akA 	� ��A ��� ���J�	���
�� |k〉 	
 ��L����$ � ��� ��� ���� (���� �� ��� ����	��$�� �� ����� @��$
A Uφ 	
 � ��L��0
�	�� � ��� ��� (����� φ 	� ��� ����� 
�����$  � |α〉 ��$ |β〉 ��� ��� 	���	�� ��  ���
��������
 Uα ��$ Uφ ���$
 �� ��� #��(�� ���������A $�4��$ ��  �

UG = UφUα = −�⊗n(2|0〉〈0| − I)�⊗n(2|β〉〈β| − I) C"��D

C
�� 6	���� "�"D� ���
A ��� ���$��� �� ��� �@� ��L���	��
�	 Uα ��$ Uφ 	
 � �����	�� 	�
��� �@�0$	���
	���� 
� 
���� 
�����$  � |α〉 ��$ |β〉 �����	�� ��� 
����  � �� ����� θA
$�4��$  � sin θ/2 =

√
M/N A �
 
��@� 	� 6	���� "�*�

��� �
�� �
���� ���  ����� ����
��� �� �
���� ������ �	��
	���� '��� �� �����
���%
 
� ��� ����
���

�����
���� �� ���  ����� ����
��� �� �� �
�� ��� ����
���� 
�� 
������% UG �� 4��� 
 ���%�� ���� ������
���

�	'��� ���������
���� �� ���  ����� ����
��� �
� ���� ������� ��� �� -A0�
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oracle
workspace

n qubits

Uα Uφ

�⊗n�⊗n|x〉 −→ (−1)f(x)|x〉
|0〉 −→ |0〉
|x〉 −→ −|x〉|x〉
∀x > 0

UG|x〉

6	���� "�"8 
������ �	���	� ��� ��� #��(�� ���������

|α〉

|β〉

|φ〉

Uα

UG

θ

θ/2
θ/2

6	���� "�*8 #������	� (	
���	2��	�� �� � 
	���� 
��� 	� ��� #��(�� 	�����	���

5�����	�� ��� #��(�� �������� T � π/4√N/M = O(
√
N/M ) �	��
 ������
 ��� 	�	�	��


�
��� 
���� φ ���
� �� |β〉� % 
��(��	�� �� ��� 
���� 	� ��� ��������	����  �
	
 �	��$

� 
����	�� �� ��� 
����� ��� ��� @	�� ��� � 	�	�� �� ���
� p ≥ 1/2� <��� M � N ��	

��� � 	�	�� 	
 �� ���
� �0�O9A ���� 	
 ������ �� 6	���� "�& 	���
�����
 ��� ���	�� /������

����� �����	���� �� 
����$  � ����	���$ ���� ��� /������ 
����� �����	��� 	
 ���	���A
	� �� �� /������ �����	��� ��� ������� ��� ��
= �� 
�����	�� N 	���
 �
	�� ��@�� ����
Ω(
√
N) ����

�
 �� ��� 
����� ������ G��A �"H�

� ������$	�� ����8 �� ���  �
	
 {|α〉, |β〉} ��� #��(�� �������� ��� ��
�  � @�	���� �


UG =
(

cos θ − sin θ
sin θ cos θ

)
@���� 0 ≤ θ ≤ π/2A �

��	�� @	����� �	�	���	�� ���� M ≤ N/2� ��
 �	���(����
 ���
e±iθ� �� 	� 	
 ��� =��@� @������ M ≤ N/2A ��	
 ���  � ���	�(�$ ��� �����	�  � �$$	�� �

	���� /� 	� �� ��� 
����� 	�$�-A $�� �	�� ��� ��� �� �� 	���
 ��  � 
������$ �� 2N � �
��@ ��������$ ������ ��
���
 ���� ���� ���
� 	���
 ��� ���=�$ @�	�� ��� 
����	��
 ��$
@��
� �-���  	� 	
 
�� �� 2����
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workspace
oracle

n qubits

UGUGUG�⊗n

O(
√
N)︷ ︸︸ ︷

|0〉

6	���� "�&8 
������ �	���	� ��� ��� /������ 
����� �����	����

� �������	2��	�� �� ��� #��(�� 	�����	�� ��  ��
� ��� ��� � 	�	�� �� ���
��	�� � 
����	��

���� 	
 �����$ �	
������ �	
���������� �����$	�� �� #��
=� G&*HA ����� ��� �� ���
� �@�
C���� 
�	����� $	I�����D �����$
 @�	�� ���� ��	
 ���$	�	��A ��� �����
�$  � #��(�� G&�HA
��� �����  � .��

��$ �� ��� G�"H� ��� ��
� ������� (��
	�� �� � #��(�� �������� 	

���
����$  � .	��� �� ��� G��H� ��� �����$
 ��(� 	� ������A ���� ���� �
� �� �� 	�����
��	���� ����
������	�� U 	�
���$ �� ��� ��$����$ ����
������	�� �⊗n �
 	� ��� ��	�	���
#��(�� �������� C:/���	�� "��D� ��� �����@	�� ����
������	�� �	���  � $����$ �
 ���

�������)�� 3����� �
������ 8

UG = −UIβs U−1Iγf ,

@���� Iβs = I − (1 − eıβ)|s〉〈s| 	
 � �����	�� �� � 4-�$  �
	
 
���� |s〉  � �� ����� β ��$
Iγf =

∑
x e

ıγf(x)|x〉〈x| 	
 � �����	��  � �� �� 	����� ���
� γ�

����� ������� ��������2 ���
����� ����
� ��
����� ��� +'��

/���������

+��(	$�$ ����M 	
 =��@�A #��(��3
 �����	��� ���  � ����	�$ �
 $�
��	 �$ � �(�� ��M 	

��� =��@� 	� �$(����A 	� ���  � $�����	��$  � �����	�� ��� ���
� �
�	���	�� �����	���
�� ��� #��(�� �������� UGA �
�	���	�� ��� �� 	�
 ���
�
 ±θ� 6	���� "�� 
��@
 � /������
�	���	� ��� �������	�� �����-	���� /������ �����	��� 6��� ��� �/���	���� sin2(θ/2) =
M/2N ��$ ��� �
�	���� ��� θ 	� �����@
 �� �
�	���� ��� ��� ��� �� �� 
����	��
 M �
6������ �����
	
 
��@
A ��� ����� 	� ��	
 �
�	���� ��� M 	
 ��

 ���� (

√
2MN + N

2k+1 )2−kA
���(	$�$ ���� θ ��
 � k0 	� ��������� ������	2	��A ��� �����	��� ��/�	��
 O(

√
N) ������

����
 �� �
�	���� M �� �	�� ��������� 6	�$	�� � 
����	�� �� � 
����� ��� ��� @��� M
	
 ��=��@� ��/�	��
 �� �����  ��� �����	���
A 4�
� ��� /������ �����	�� ��$ ���� ���
/������ 
����� �����	���� :����
 ��	
�� 	� ��� �
�	����
 ��� θ ��$ M �I��� ��� �����
��� � 	�	�� �� 4�$ � 
����	�� �� ��� 
����� ��� ���� ��@�(��A ��� ��� � 	�	�� ���  �
	�����
�$ ���
� �� �  � � ��@ �����	�	��
 �� ��� ��� 	��$ �����	��0
����� �����	����

��'�� ��
��� ��
�� �� �	�
���� �� 2N �� ������ ��
�M ≤ N/2� )� 
���
�� ��������� 
���� ���� �� ����
�� 
����% 
 ���%�� (���� �� ��� ��
��� ��
���

&�
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t qubits
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|j〉
|θ̃〉�⊗n

�⊗t U20

G U21

G

U jG

U2n−1

G

QFT−1

6	���� "��8 �	���	� ��� ��� /������ �����	�� �����	���A �� ����	���	�� �� ��� ���
�
�
�	���	�� �����$��� �� �
�	���� ��� �	���(����
 �� ��� #��(�� �������� UG @�	�� ��� ��

�� $�����	�� ��� ��� �� �� 
����	��
M �� ��� 
����� ��� ���� ��� 4�
� ���	
��� �����	�

n /� 	�
 ��$ ��� 
����$ ���	
��� �����	�
 t /� 	�
A 
�J�	��� �� 	�������� ��� #��(��
�������� �� ��� ��������$ 
����� 
���� �� 
	2� 2N � ��� 
���� �� ��� 
����$ ���	
��� 	

	�	�	��	2�$ ��

∑
x |x〉  � �⊗n� .�� ��	
 	
 � 
������
	�	�� �� ��� �@� �	���(�����
 �� UG

@	�� �����
���$	�� �	���(����
 eiθ ��$ ei(2π−θ)� ���������A �����	�� ��� ���
� �
�	���	��
�����$��� ��
���
 	� �� �
�	���� ��� θ �� 2π− θ @�	�� 	
 �/�	(����� �� ��� �
�	���� ��� θ
Csin2(θ/2) = sin2((2π − θ)/2)D�

�����	�� ��� ��� �� �� 
����	��
 ��$A ���
�/������A $�����	�	�� ��� 
��(� 	�	�� ��
� 
����� ��� ��� ��
 ���� ����	���	��
A 	����$	�� $��	
	�� (��	���
 �� 9+0��������
��� ���
�

����� ���	�������� �� ����
�1� �	�����'�

��� /������ 
����� �����	��� �� �� ���
� 	�
 ��	� �������� ���  � ����	�$ �� 
��(� ����
=	�$
 �� 
����� ��� ���
� �� �� "�� ���
���
 � 
��(�� �� ���
� ��� ���
� ���� �� ����
��� ��@ $�
��	 �$  �	�L��

��
8 !��	��/ #	(�� �@� �����	��
 f : X → Z ��$ g : Y → ZA 4�$ � ��	� (x, y) ∈ X×Y

��� ���� f(x) = g(y)�

����	�	�� !��	��/ #	(�� � �����	�� f : X → Y A 4�$ �@� $	I����� x1A x2 Cx1 �= x2DA 
���
���� f(x1) = f(x2) ��$�� ��� ����	
� ���� 
��� � ��	� �-	
�
�

'
�
*
�� ����	��
�/ #	(�� � /������ ������ @�	�� ������
 |k, y⊕Xk〉 �� �� n+1 /� 	�
/���� |k, y〉A ��� ��� ��� 	
 �� � ��	� ��� N = 2n  	�
 �� Xk�

"������ �	��	�������/ #	(�� � �����	�� f : X → Y A $��	$� @������ f ���
 $	I�����
x ∈ X �� $	I����� y ∈ Y �

&�
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�	�	���3!��	��/ 7�� T [0 . . . N − 1]  � �� ��
����$ �� �� �� N C$	
�	���D 	���
� 6	�$
��� 	�$�- y �� �� 	��� 
��� ���� T [y] 	
 �	�	����

-� ����	�� ���*���/ #	(�� �@� ��
����$ �	
�
 �� ������ N ����� 6	�$ ��� C����	
�$D

	���� ������ ������ �� G�!H ��� ������-	�� 	
 ���
���$ 	� /������ ������
����

�
 ��$ ����

�
 �� ���� �	
��

-��	�� �
�� 	��/ )�����	�� @������ � �	(�� ������� p �� ������ m �����
 	� � �	(��
��-� t �� ������ n� ��� �����	��� ��� 	��
 /������ 
�����	�� �����	���
 @	��
$�����	�	
�	� 
����	��A � �����	/�� ���� �������� 
��	�� �����	��� #��(��3
 
�����
�����	��� 	
 ����	�$ �@	�� 	� ���,����	�� @	�� � �����	� ������ 	� ���� 
����

9�	
����3!��	��/ #	(�� �� ��$	�����$ ����� #TC;A:DA 4�$ $	
�	��� (���	��
 a, b, c ∈ V

��� ���� (a, b), (a, c), (b, c) ∈ E�

:�	� 	�� �
��	+ ���*���/ 7��M  � �W (n, k) @�	��	�� ����	-��� � 
�� �� n �����	��

fMs : {1, . . . , n} → {−1, 0,+1} ��� s ∈ {1, . . . , n} 	
 $�4��$  � fMs (i) := Msi�
)�����	�� sR

��� ��� !������ !�"����#��


������ $��� �
� 
����� O(
√
N)A G&�A &�H

C#��(��3
 �����	���D /��$�� 
���$��

������ �����	�� O(

√
N) G��A �"A �!"H

����$��	�� ��� ��� O(N3/4 logN) G�!A &"H
�	�	���04�$	�� O(

√
N) G"�H

)��� �
� ����	�(�� N/2 +O(
√
N) G�*�H

���	�� �����	�� O(
√
n log

√
n
m logm G���H

+
√
m log2m)

<�	��	�� ����	- ��� ��� � ������ /���	�
 G�*�H
:������ $	
�	�����

 ������	
�� ������-	�� G��H
����	
	�� 4�$	�� ��@��
  ����� ����
���@ 4�$	�� ���

	���
��	�����04�$	��

�� �� "��8 �����	���
  �
�$ �� /������ 
�����	���

����� ������� �
���' ��� 3+ +��
	
��

���(	�� ��� ���
 	� ��� ������-	�� ���

 9+ ��� ��
�  � 
��$ �� �
	�� /������ 
������
��� ���	�� 
����� 
���� �� ��� ��� ��� C�� �� ��$��	��
 �� ����� (���	��
D 	
 �����
����$

��) �
���	 M ∈ {−1, 0,+1}n×n �� �
���� 
 �������� �
	���
 �� M ·MT = k · In ��� ���� k, 0 ≤ k ≤ n�

�!
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 � � 
��	�� �� /� 	�
� ��	
 
��	�� ��
 ��  � ���$ �
 $�4��$  � ��� ��� ��� 
���	4��0
�	��
 C�� �� ��� 
��	�� ���
	
�
 ��  ���=
 �� ��� 
��� ������ 
���	�� �� 	�$�- �� � 
	����
(����-D� �� ��$�� �� ����� ��� /������ 
����� �����	���A ��� ������ @�	�� $����$
 ��
��� ��� ��� 	�
����� ��
�  � $�
	���$ ��$ 	���������$� �� ���=
 ���
� /� 	� 
��	��

@�	�� �����
��� � 
����	��� �
 ��� (��	4���	�� �� @������ � ������	�� 
����	�� ����
 ���
��/�	������
 	
 ���� ��
	�� ���� ��� ��� ��� 	�
���A �(�� �� � ���

	��� ��������A 	� 	


�J�	��� �� ���(��� ��� ���

	��� �	���	� �� � ��(��
	 �� �	���	�� 9�@A ��	
 �	���	� ���  �
	���������$ �� � /������ ��������� ���
A ��� /������ �����	�� �����	��� @�	�� $�0
����	��
 @������ �� ��� � 
����	�� �� ��� 
����� ��� ��� �-	
�
 ��/�	��
 ��� 
/���� ����
�� ��� ��� �� �� ������	��
 ���� ��� ���

	��� E ����0�����F �����	��� ��/�	��
� 5������

���=	��A ��� ������-	�� ������
 ���� O(2θ(n)) �� O(2θ(n)/2)A @���� θ 	
 
��� ������0
�	�� 	� n� 9��������

A ��� ������-	�� 	
 
�	�� �-������	�� ��$ 	� ��� 
��
� �� ������-	��
������ ���
� ��� ���
 ��� ��� �J�	����� 
��(�$�

����! 0���1� �	�����'�

�����	� 
��������$ ��� 	�����	�� 
����� ��� ���
 ���  � 
��(�$ �I���	(��� �� � /������
�������� �
 @���A �(�� ����������	�� ���  �
� ���

	��� ����	
�	�
� �� G��A ��H ����
	����$���$ � /������ 
����� �����	��� ��� �0��� ��$ �	���� ���
���	��$ k0����

9 � �
�	�!
*	�	�& ���*��� 2-�95

� 
��	
4� 	�	�� ��� ��� C���D ���
	
�
 �� � ���	��� ������� 	� n (��	� ��
 v1, . . . , vn ��$
��� ��/�	������ �� 4�$ �� �

	������ a = (a1, . . . , an) ∈ {0, 1}n ��� ��� (��	� ��
 ����
��=�
 ��� ������� ����� 6�� k0��� ��� ������� 	
 �	(�� �
 � ���,����	�� �� m ����
�
A
@���� ���� ����
� 	
 � $	
,����	�� �� k �	�����
 vi �� v̄i ��
����	(��� @	�� i ∈ {1 . . . n}�
% (	��
�� ����� ��� N = 2n ��

	 �� �

	������
 ��� ��� �������� � 
����	�� ��
� 
��	
��
�(��� ����
�� ����
�
 @�	��  ����� ���
� ��� � �	(�� �

	������ ��� �����$ ���8�����
7�� c(a) $����� ��� ��� �� �� ���L	��
 ��� �

	������ a� � k0��� ��� ��� 	
 �����$
	�-�	���� ����������� 	� ��� ������� ��
 ��� �����
� ��

	 �� ��� �� �� ����
�
 ��� @�	�� �

����	�� 
�	�� �-	
�
� ���
A ��� �����	(� �� �$$	�	���� ����
� @	�� ���(��� ��� 
��	
4� 	�	��
�� ��� �������� 6�� k ≥ 3 ��� 
��	
4� 	�	�� ��� ��� 	
 9+0�������� ��$A 	� �������A ���
��������	���� ��
�
 ���@ �-������	���� @	�� ��� ��� �� �� (��	� ��
 n� 6�� k = 1A
k = 2A ��$ 
��� k0��� ��� ���
 @	�� � �����	� ��� ��� 
��������A ����� ��� ���

	���
�����	���
 @�	�� ��/�	�� ���� O(n) ������ ���
�A ���� 	
A ��� ��� �� �� 
�/����	����
�-��	��$ �

	������
� ��
�A /������ �����	���
 ��� �-���	� ��� 
�������� �� ���
�
��� ���
 �� 	����(� ��� ������� /������ 
����� C	����	�� ��� ��� ��� 
��������D ��$
�������  ����� ���� ���

	��� �����	���
�

1���0� 6�
���� 
����	� � ��� �3-�9

����3
 /������ �����	��� ��� �0��� ��	���	�� ��/�	��
 n /� 	�
A ��� ��� ���� (��	� ���
�  �
	
 
���� 
���	4�
 ��� (����
 �

	���$ �� ���� (��	� �� ��$ ���
�/������A �

	������

��$  �
	
 
����
 �����
���$ $	������ �� ���� ������ ��������	�� � ��� ��� ����	�����

��
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⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1 0 0 0 0 0 0 0
0 i 0 0 0 0 0 0
0 0 i 0 0 0 0 0
0 0 0 −1 0 0 0 0
0 0 0 0 i 0 0 0
0 0 0 0 0 −1 0 0
0 0 0 0 0 0 −1 0
0 0 0 0 0 0 0 −i

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

6	���� "��8 ����� ����	- ��� ��� ���	��� ������� f(v1, v2, v3) = v̄1 ∧ v̄2 ∧ v̄3� ��� ����	-
��
 $	������ ���J�	���
 (ic(000), . . . , ic(111))� 6�� 	�
�����A ��� �

	������ a = 101 Cv1 =
����A v2 = ���
�A v3 = ����D ��=�
 �@� ����
�
 ���
�A 	� �� c(101) = 2 ��$ i2 = −1�

��� ��� ��  � 
��(�$ 	
 ����

	 ��  � � 
���	�� $	������ ����	- R C�� $	���
	�� 2n× 2nDA
@����

Raa = ıc(a) C"��D

	
 ��� ����	- ����� �� ��
	�	�� (a, a)� ���
A ��� ��� ��� $�
��	��	�� 	
 ���	���� ����$�$
	� ��	
 	���� ����	-  � ��� ��� �� �� ���L	��
 	� ��� 2n ��

	 �� �

	������
 �� ���
�	(�� ���	��� �������� 6�� ��� ������ 	� 	
 �

���$ ���� 
��� � ����	- ���  � 	����0
�����$ �J�	������ 6������ 	����������	�� $���	�
 @	��  � �	(�� 	� ��� ��-� ����������
6	���� "���* �-����	4�
 ��� 	���� ����	- R ��� � �0��� ��� ��� @	�� n = 3 (��	� ��
�
6����������A ��� U  � ��� ����	- $�4��$  �

Urs = 2−n/2eiπ(n−m)/4(−i)d(r,s) ,

@���� d(r, s) 	
 ��� ����	�� $	
�����  ��@��� �@� �

	������
 r ��$ sA (	�@�$ �
  	�

��	��
� U 	
 	�$����$��� �� ��� ��� ��� ��$ 	�
 ���	��� �������� ��� 4�
� 
��� �� ���
/������ �����	��� 	
 ��� ��������	�� �� �� �� 	�
�$A 	� �� �/����� @�	����$A 
������
	0
�	��� �
 �����$� $����
�����$A ��	
 	
 ���	�(�$  � �����	�� ��� ��$����$ ���� �� ���
n /� 	�
 C�⊗nD 	�	�	���� 	� 
���� |0〉� 7�� |ψ〉 $����� ��� ��
���	�� /������ 
����� ����A
�����	�� R ��$ U �� |ψ〉 �	(�


|φ〉 = UR|ψ〉 .
�� ���  � ���(�� ���� ��� 4��� /������ 
���� 	
 ��� �/����� @�	����$ 
������
	�	�� ��
��� �

	������
 a @	�� c(a) = 0 ���L	��
� ���
A ���
	$��	�� � 
��� �� �0��� ��� ���A �
4��� ���
������� @	�� ���$ @	�� �/��� ��� � 	�	�� �� ��� �� ��� 2n−m 
����	��
� �� �����
	
 �� 
����	�� �� ��� ��� ���A ��� ���
������� @	�� ������ � @���� ��
���� �����A 4�����
��� ��
���	�� �

	������ ��
 ��  � (��	4�$�

��
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���������
�	��
��� ����	��
 R ��$ U ��(� ��  � $������
�$ 	��� ���������� /������ ����
 ��  �	�$
� �����	��� ��$ 	��������� �� �����	���� ��� ������	�� R ���  � ��������$ �
	�� �
��(��
	 �� C/������D (��
	�� �� ��� ���

	��� �����	��� �� ����� ��� ��� �� �� ���L	��
 ��
� �0��� ������� ��$ � �����	/�� �� �$,�
� ��� ���
�
 @�	�� ��� ��@��
 �� ı� ���������A
�@� ���	����� /� 	�
 ��� ����

��� @�	�� ��� �������$ 	� ��� 
������
	�	��

|Ψ〉 = 1
2
(|00〉 − ı|01〉 − |10〉+ ı|11〉) ,

@���� ��� ����� ���
�
 �����
���$ �� ��� ���� ��

	 �� (����
 �� Raa ��� ��� �

	������
a� �
 
����
��$  � ����A ��� 
������
	�	�� |Ψ〉 ���  � ���
������$  � �����	�� H ��
/� 	� � ��$ ı%& (3/4π) �� /� 	� !A  ��� �� ��� /� 	�
  �	�� 	�	�	���� �������$ �� |1〉�
����A ��� ��(��
	 �� ������	��

F : |a, x〉 → |a, x+ c(a)mod 4〉

���
 �� |ψ,Ψ〉 �
 �����@

|ψ,Ψ〉 → 2−n/2

∑
a

ıc(a)|a〉|Ψ〉 ,

�������	�� ��� ��/�	��$ ������	�� R� �� 
�� ��	
A ������� 	������$	��� ��������	�� 
���

��� ����

��� @�	�� ���  � ���$ �� 	� G��H� 9��� ���� ����� �����	�� F A ��� ���	�����
/� 	�
 �������� 	� ��� ��	�	��� 
������
	�	�� ���� ��$ ��� ���������  � $�����$A 
	���
���� $� ��� 	�L����� U � �� � 
	���� ����	���	�� �� F A c(a) 	
 �(������$ �����
��� ����	- U ���  � 	���������$ 	� ����
 �� �@� 
	����� ����	��
 H⊗n ��$ ΓA @����

Γ 	
 $	������ @	��
Γaa = ı|a| .

���� |a| 	
 ��� ��� �� �� �0 	�
 	� ���  	� 
��	�� �� �

	������ a� '
	�� ��	
 $�4�	�	��A
	� 	
 U ≡ H⊗nΓH⊗n� 6�� 	��������	�� ΓA ���� 
����
�
 �� �
� 
	�	��� �����$���
 ��
���
� ��� ��� 	����������	�� �� ��� ����	- RA �
	�� � /������ ����	�� ��� �����	��
��� ��� �� �� �0 	�
 	� ���� �

	������ 	�
���$ �� ��� ��� �� �� ���L	��
 G��H� ���
A
��� �������
 �� ��� ����	- Γ ���  � �������$ ��
	�� ��$ ��� ������	�� U 	
 �J�	�����
������� �� 	� O(n)  	� ������	��
8 2n ��$����$ ����
 ���
 ������� C · n ����������

	���� /� 	� ����
A @	�� � ���
���� C ≥ 1A ��� ��� ��������	�� �� Γ C�� �	(� � �����
�
�	���	��D� �� &�� 	� 	
 
��@� �
 � ��
��� �� ��� #+ �(����	�� �� � �0��� /������
�����	��� ���� U = %& (3/4π)⊗nA ��$ ���
�/������ 	� ���  � 	���������$ �(�� ����
�J�	�����  � n ���������� �����	�� ����
�

��



� ��
���� ,3���	���� 
�� ���	� �3
��	7�
�	��

%��� ���	�A ����3
 �����	��� ���
	
�
 �� ��� �����@	�� 
���
8

������� ��������� �	�	�� 9��4 : 	�-�	���� ����������� k��4 

�� ����� �⊗n �� |0〉�
�� ������� ��� ��� �� �� ���L	��
 @	�� ��� ���
���	��
 C����
�
D �� ��� ��� ��� 	���

��� ���
�
  � �����	�� ��� 	���� ���� R�

�� �����	�� U = �⊗nΓ�⊗n ��
���
 	� �� �/����� @�	����$ 
������
	�	�� �� 
����	��

����
�

�� �-���	������ 	����������	�� �� ����3
 �0��� �����	��� ��� ���	��� �������
 	�
����� (��	� ��
 	
 $����
�����$ 	� G���H�

�������
���
��� ����	- ������	��
 ��$ ��� 	�	�	��	2��	�� �� |ψ〉 �����	 ��� O(n)  	� ������	��
 �� ���
�(����� ��
�
� :(�����	�� ��� ��� �� �� ���L	��
 ��
���
 	� ��
�
 �� O(m) ��� � k0���
��� ��� @	��m ����
�
� �� ����� ��� ��
�
 �� ��� /������ �����	��� ������ �� O(n+m)�
��	
 �����
���$
 �� ��� ��
�
 �� � 
	���� 
����� 
��� �� � ���

	��� 
����� �����	��� @�	��
	
  �
�$ �� �-��	���	��
 �� ��	�� ��
�� �� �

	������
� <�	�� ��� /������ �����	���
�-��	��
 ��� �

	������
 	� � 
	���� 
���A ���  �
� C����� 
�����  �
�$D ���

	��� �����	���
���$
 O(n) 
����� 
���
�
� 
�	$� ��$	4���	�� �� ����3
 �����	��� ��� �0��� ��� ��
�  � ����	�$ �� ��-	�����

��$ �	���� ���
���	��$ k0��� ��� ���
 ��� �� 	����� k �� 4�$ � 
����	�� @	�� �	��
��� � 	�	�� 	� � 
	���� 
���� 6�� ��� �0��� ��$ ��
� ��-	����� ���
���	��$ �0��� ��� 0
���
A ����3
 �����	��� 4�$
 � 
����	�� @	�� ��� � 	�	�� ���� ���
A �� 	�������� ��
���
$�4�	���� 	�$	����
 ��� ��� ��� 	
 ��� 
��� �� G��A ��H�
9��� ���� � ������	
�� �� ����3
 �����	��� @	�� ��� ���

	��� �����	���
 �����$	��

�� ��� ��� �� �� 
����� 
���
 	
 ���� ����	

	 ��A 	� ��� ���

	��� �����	���
 ���  �
�$
�� ����� 
�����A �
���	���� �� ��� �-��	���	�� �� ��� ��� �� �� ���L	��
� %����@	
�A ���
������	
�� ��
�  �  �
�$ �� � ���� ���$������� ���
���� 7���� 
����� 	
 ��� ��@��

���  �
� 
����	��� 6�� 	�
�����A 	� 	
 �����
��� �� �� 
��(� �0��� �
	�� ����� 
����� 
	���
	� 	
 ��	(	�� �� 4�$ �� �

	������ 
��	
��	�� ��� �	(�� .������ ������� 	� O(m)�

��� 
������ �	�����	��

��� ��	�$ ���

 �� /������ �����	���
 ���
	
�
 �� ���
� �����	���
 @�	�� 
	������ /���0
��� ������	��� 
�
���
� ��������A ��� ��� ��� �� 
	�����	�� � /������ 
�
��� 	

��'���� 
�� 
���%������ ��
� ����� �� 
 ���%�� �
����

�"
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���

	����� C�� ���
�D �
 $	J���� �
 
	�����	�� � /������ ��������� ��	
 	
 $�� �� ���
�-������	�� ���@�� �� ��� �	� ��� 
���� @�	�� �����	
�
 ��� /������ 
����
 �� ��� 
�
0
���� ���������A 
	�����	�� �� /������ 
�
���
  � ���

	��� ��������
 	
 ��

	 ��A  �� 	�
������� ���� (��� 	��J�	������ � /������ �������� ��� ������� ��� 
	�����	�� �� 
���
$����	��� 
�
���
 ���� ���� �J�	�����A  �� ������������� ��� ��� 	�������	�� ���� ���

	�����	�� 	
 ����

	 ��� ��� 
	�����	�� ���$
 	��(	�� �� �� � 4��� ���
������� ������
0
	�� ��� �
����� 
����	���
�$ 
	�����	�� 
���� 	��� � $�4�	��  �
	
 
����� 9�(�������

A
/������ 
	�����	�� 
���
 ��  � �� 	�������� ����	���	�� �� /������ ��������
�

� ����� ����	�� �� ��� /������ 
	�����	�� �����	��� $�
��	 �$ 	� G�!�H 	
 ���
����$
��@� 6������ ���$	�� ������ ��� ��� ��	�	��� �����
 $���	�� @	�� ��� 
	�����	�� ��
/������ ���
	��� 
�
���
 �� � /������ ��������A ����� ���� G�A ��&A �"�A �&"A ���A
���H�

�	�����	�� � /������ 
�
��� ����
 E���$	��	��F ��� 
���� �� ��� 
�
��� �� 
��� �	��
tf C��$O�� ��
	�	��D �
 ���������� �
 ��

	 �� �	(�� ��� 	�	�	�� 
�
��� 
����� �	�����	�� 	

��	���  �
�$ �� 
��(	�� $	I�����	�� �/���	��
� '������������A ��� ��� �� �� $	I�����	��
�/���	��
 	�����
�
 �-������	���� @	�� ��� $	���
	�� �� ��� 
�
��� ��  � 
	������$�
��� /������ ����������� �� ��� 
	���� $	I�����	�� �/���	�� dy/dt = f(y) 	� ���

	���

	�����	��
 	
 i d|ψ〉/dt = H|ψ〉 ��� � ���	����	�� H� ��
 
����	�� ��� � �	��0	�$����$���
H 	
 |φ(t)〉 = e−iHt|φ(0)〉� ��@�(��A e−iHt 	
 �
����� $	J���� �� �������� �	�� ��$��

����	��
�� ��� ��

	 �� �
���	���� ��� ���
� ���	����	��
 @�	�� ���  � @�	���� �
 
��

�(�� ����� 	�������	��
8 H =

∑L
k−1HkA ���	�� �� �� n0$	���
	���� 
�
���A L = poly(n)A

@���� ���� ���	����	�� HK ���
 �� � 
���� 
� 
�
���� 9�@A ��� 
	���� ����
 e−iHkt ���
���� ��
	�� �� �����-	����  � ����
 �� /������ �	���	�
 ���� e−iHt� ��@ �� ���������
e−iHt ���� e−iHktS �� ������� e−iHt �= ∏k e

−iHkt  ����
� �� [Hj,Hk] �= 0��� ��
���$A
�����-	���� e−iHt @	�� �� ��

ei(A+B)∆t = eiA∆t/2eiB∆teiA∆t/2 +O(∆t3) .

��	
 ��$ ����� �����-	���	��
 ��� $��	(�$ ���� ���  ������ ���	���

lim
n→∞(eiAt/neiBt/n)n = ei(A+B)t .

9�@A ��� ��� n0/� 	� 
���� |ψ̃〉 �����-	���� ��� 
�
���� �

��� �������A ���� ��� ��0
������
 e−iHk∆t ��(� �J�	��� /������ �	���	� �����-	���	��
� ����A ��� �����-	���	��
�� ei(

∑
k Hk)∆t ���  � �J�	����� 	���������$  � � /������ �	���	� U∆t� <	�� 	�A ���

/������ 
	�����	�� �����	��� ���  � ���������$ �
 �����@
8

��*���� ��� �
���� ������
��� ���� ����� �������� (I − iHδt)|ψ(t)〉 �� ����5������
��[A,B] := AB −BA �� ��� �����	
	�� ������� ��� ����
���� A 
�� B�

�*
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������� ��������� �	�	�� %�����	 ��	������� ��
�����	

�� ��	�	��	2��	��8 |ψ̃0〉 C	�	�	�� 
�
��� 
���� �� �	�� t = 0DA j = 0K

�� ������	(� �(����	��8 $� |ψ̃j+1〉 = U∆t|ψ̃j〉K j = j + 1K ����� j∆t ≥ tf
�� %�����8 |ψ̃(tf )〉 = |ψ̃j〉

��� ����(�� 2	�	�
 ��� 
������ )����	���


��	
 
���	�� 
�����	2�
 
��� �������	��� ��
���
 � ��� ��� �	�	���	��
 �� /������ ���0
���	��� ��� �����$����	�
 �� ���(� ��@��  ���$
 ��� ��� ������-	�� ��$ ��� 
���$��
�� /������ �����	���
 ��� ��� ��� 
� ,��� ������A  �� ���� ���  � ���$ �� 	� ��� �	(��
�	���������
�� 	�����
�	�� ��
��� �� �	�	���	��
 �� /������ �����	���
 �����
 ��  ���=0 �- ����0

�	���
 G��H� ���� /������ �����	���
 �
� ������ ��  ���=0 �- ����
A @�	�� �	$� ��
��=��@� �����	��A �� ���� ��� �� ���
� �-���

	 �� �
 �  ���=0 �- �����	���� ����

	��
���  ���=0 �- ���  � ������� �� �
 � 
���	�� 
� ����	�� ���� �� /���� @��
� 	�(����	��
���� ��
�
 ��	� �	��� ����=	�� ���� ��������A ��� X = (x0, . . . , xN−1)  � � 
��� ��
������A �����	�	�� N .������ (��	� ��
 xi ∈ {0, 1}� %� 	���� i ��� ������ ������
 xi�
� �������� f �� X @�	�� 	
 ��� .������ �����	�� f : {0, 1}N → {0, 1} 	
 ���� $����0
�	�� ��  � ������ /���	�
� ��� ������-	�� �� �  ���=0 �- �����	��� 	
 �
����� ����$  �
��� ��� �� �� /���	�
 ����

��� �� ������� ��� ��������� ����A .���
 �� ��� ���(� 	� G��H
����  ���=0 �- /������ �����	���
 ��� @�	�� �� 	���� 
�������� 	
 =��@�A 	� ��A ��� @�	��
�� ����	
�
 ��� ��$� ��
��	��	�� ��� �����	����A ��� ���	�(� ��-	����� � �������	��

���$�� �������$ �� ��� � 	�	
�	� ��$ $�����	�	
�	� ���

	��� �����	���
� �� �$$	�	��A
���� 
���	�� �-���  ���$
 ��� ��� C@��
� ��
�D /������ ������-	�� �� ,"-A #%A *,%(
�$ ��$ �,8#%�$ ��� $	I����� ����� ��$��
 C�

��	�� �-��� 0A 7�
 ;���
 0 ��$
�����0����� �����	���
D� 6�� ��� �-��� 
���	�� C��� �����	��� ������
 ��� ������� ��
���
@	�� �����	���D ��� /������ ������-	�	�
 ��� N ��� #% ��$ ,"-A N/2 ��� *,%�$ ��$
Θ(N) ��� �,8#%�$ � ���  ���$ ��� ��� ���	�� ��� ��� @�
 	�$����$����� � ��	��$
 � 6���	 �� ��� G*�H�
�
 
��@�  � .������ �� ��� G��H ��� �����@	�� ��� ���
 ������  � 
��(�$ ���� �J0

�	����� �� � /������ ��������8

��'���
 ��� �������� �� �
�� �� �� 	�	
��

�&
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���� ,3���	����

�
�	�&3����	�	�� ���*���/ #	(�� � �����	�� f : X → Y A 4�$ ��� ���	�� �� ��� ���$	���	��
�� ��� 
�� {(x1, x2) ∈ X ×X|x1 < x2 ∧ f(x1) = f(x2)}�

;�3����	�	�� ���*���/ #	(�� � �����	�� f : X → Y A 4�$ �� ������� x ∈ X ���� 	
 ���
	�(��(�$ 	� � ����	
	��A 	� ��A f−1(f(x)) = {x}�

;�3�
��� ���*���/ #	(�� � �����	�� f : X → Y A 4�$ �� ������� y ∈ Y 
��� ����
y /∈ f(X)�

�V��� �� ��� G�*H $�����	��$ ��� /������ ������-	�� ��� ������� ��� ���
�

(������ ��
�� 	��/ #	(�� � 
����$ �	
� �� N ��� ��
 (x0, x1, . . . , xN−1)A xi ≤ xi+1A
��$ � ��� �� y ≤ xN−1A 4�$ ��� �	�	��� 	�$�- i 
��� ���� y ≤ xi� ��	
 ��� 0
��� ���  � �����$�$ �
 � ���0.������ ����	
� ��� ���� ���  �
� =��@� /���0
��� ��@��  ���$ 	
 1/π(ln(N) − 1) /���	�
� �� G�*HA � /������ �����	��� �
	��
log3(N) +O(()1) ≈ 0.631 log2(N) /���	�
 	
 ���
����$� � 
�	�����  ����� �����	���
C0.526 log2(N) /���	�
D 	
 �	(�� 	� G*�H�

-���	��/ #	(�� � �	
� �� ��� ��
 (x0, x1, . . . , xN−1)A ������ � ��������	�� σ �� ��� 	�$�-

�� 
��� ���� ��� �	
� (xσ0 , xσ1 , . . . , xσN−1

) 	
 	� ���0$�����
	�� ��$��� ��� /������
��@��  ���$ ��� ��	
 ��� ��� 	
 �	(��  � Ω(N logN)  	���� ������	
��
�

"������ �	��	�������/ #	(�� � �	
� �� ��� ��
 (x0, x1, . . . , xN−1)� )��	$� @������ ����
��� ��� $	
�	���� ��� ��� ��� ��
 � /������ ��@��  ���$ �� Ω(

√
N logN)  	����

������	
��
�

��
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 �


����
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� �� 
��� ����� �
 ��
�	�
���� �
�

*�������� ������"� +,�

:(����	�� �� /������ �	���	�
 ����
 �@� ��,�� ���������
A 	�����
	�� ��
�
 ��� 
	�����	��
/������ �����	���
 ��� ����	��� /� 	�
 �� ���(���	���� ��������
 ��$ ��� ������- ��$
����� 
����� 
����
 �� /������ �������
� %� ��� ���$ ��� �-������	�� ���@�� �� ���

���� 
���� C@	�� ��� ��� �� �� /� 	�
D ��=�
 
	�����	�� 	�����
	���� �	�� ���
��	��A
 �� �� ��� ����� ���$ ��� 
��� 
���� 
���� 	
 ��� 
����� �� ��������$ ��$ 
������
�$

����
 ��
���
	 �� ��� ��� ��@�� �� /������ ��������	��� ���
A ��� /������ ������0
	�� ��$ ��� $�(�������� ��  �����0����0���

	��� /������ �����	���
A ��� �	� ��� 
����

���
 ��  � �	=�@	
� � ���
� ��$ �  ��

	��� ��� �-������	�� ���@�� �� ��� 
����� 
����
	
 $�� �� ��� 	����� �� ��� 	�����	�
A 	� ��� ���� �� ��� ��� �� �� (��	��	��
 C@	��
�����	�	��
D � �����	� ��� �� �� ����
 ���  � ���
�� ���� � �	(�� 
�� �� ����
� ���
������-	�� ��$ 
�������� �� ��� 
����� 
���� $����$
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U1v0 =: v1; U2v1 =: v2; . . . ULvL−1 =: vL
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ULUL−1 . . . U2U1 =: Ualg; Ualgv0 =: vL .
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� �������� 	
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 	� ������ ��� ��� �� �� �$$	�	��
 	

L · 2n� ��
� ��� 
����$ �����	/��  ���4�
 ���� 
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���$��	�� ��� ���$��� �� �@� N×N ����	��
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 ���� 22n+1 ����	��	���	��
 �� �@� ������- ��� ��
A 
	���

��� � ����	- ��
 	� ���� ��@ ��$ ������ ���� �@� ���J�	���
 ��� �/��� �� 2���� ��� 4���
����	-0(����� ����	��	���	�� �����	 ���
 �� �$$	�	���� 22n ����	��	���	��
� �� 
������A
��	
 �������� ���$
 (L− 1) · 22n+1 + 22n ����	��	���	��
 �� ������- (����
� ��� ��� ��
�� �$$	�	��
 	
 (L− 1) · 22n ��� ��� ����	-0����	- ����	��	���	��
 ��$ 2n(2n − 1) ��� ���
4��� ����	-0(����� ����	��	���	���
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 ����	����� ��
�� ��	
 �����	��� ��/�	��

N log2 7 ����	��	���	��
 �� ����	��� �@� �� 	����� N  � N ����	��
A @	�� N = 2k� .��
��� ��@�� �� ��� E$	(	$� ��$ ���/���F0�����	��� 	
  �
�$ �� ��� 	$�� �� ����	�	��	��
����	��
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	����� ��
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� �� ��� 
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 O(N2.376) �����	��� G�&H� ��@�(��A ��	
 ��
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���� � �����	��� ����(���� 
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 �����$ 	
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	��
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 ��  � ��� ��@��  ���$ ��� ��� ��� �� �� ����	��	���	��
 
	��� 	� 	
 �

���$
���� ��� ����� ����	- 	
 $��
� ��$ ���� �� 	�
 ����	- ���J�	���
 ��
 ��  � ����	��	�$ ��
���
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 ��
����A 22n+1 ����	��	���	��
 ��� �� ������� �� ��
���� 9���A 	� 
�	��
����	�
 �� ��
��(�$ ��� ��� 	� ���� ��	� ��������	���� ������-	�� ������ �� $�����	��
��� �	�	��� ��� �� �� ��	�����	� ������	��
 ��/�	��$ ��� ����	- ����	��	���	���

%���� �� %������ 	� � � ����	��� �	����� �
�� -���
�	�
�� �  ���$�� �����-�A ��� ��� �� �� 4���

 ��
�
 @	��	� ��� 
���� �� ��� #+ �(����	��
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 ��  � ���
	$���$� �� 4�
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	���A ��� 
����$ �������� �	���  � �
���	���� �-��$	���
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�
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� �� �����	� ��
���
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� �� ������� ��� 4��� �������� ��@�(��A
��� 
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 ��� ��� ��� ����� 	� ��� C4�
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� ��� �
� �� ��� 
	������� @	��	� ��� #+ 
�
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 � ��� �����������	��
A @�����
 ��� ��� 
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��� 4�
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 ��

c · (L− 1) · 2n+1 + c · 22n .
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�"



.�� ��
���� �	���	� �	��3
�	��

����	��	���	��
 	� C� �
 �����$� ��	���$ ���A ����� 	
 ���� � ������ 
���� 
���� ���
	����(�����
 	� ��� �@� ����	��	���	��
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c · (L− 1) · 2n + c · 2n(2n − 1) ,

��� ��� 4�
� �����$ ��$

(L− 3) · 22n + c · (2 · 22n(2n − 1) + ·2n(2n − 1))

��� ��� 
����$� ��� ��� �� �� �$$	�	��
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 � ��� �����@	�� �/���	��8

c =
(L− 3)2n

L− 1− 22n
.

��� ������� ��$ 	�
 	�(��
� 
���	�� ��� �
�������
 ��� L ��$ c� ��� ����
���$ ��� c
������
 �� 2n� �	��� ��� ��� �� �� 4���
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������- ��� ��
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U =
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a b
c d
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 ��	����� �����
� U ���
 �� /� 	� q �� n /� 	�
 	� ����� ��$ 	
 ����	�$ �� � /������

���� v 	� ��� 2n $	���
	���� (����� 
����A 	� ��

(I ⊗ . . . ⊗ I︸ ︷︷ ︸
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⊗U ⊗ I ⊗ . . .⊗ I︸ ︷︷ ︸
q
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K sm 	
 ��� ��� �� �� 2× 2 
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��� 
	2� ���� ���  ���=3
 4�
� ��@ �� ��� ��-�  ���=3
 4�
�
��@K pos1 ��$ pos2 ��� ��� (����� ��
	�	��
A �I����$  � ��� 
� ����	- ����	��	���	��K
a1 ��$ a2 ��� ��-	�	��� (��	� ��
K vpos1 ��$ vpos2 ��� ��� ���������
 �� (����� v ��
��
	�	�� pos1 ��$ pos2K ∗D

�� bl← 2n−q−1

�� sm← 2q

�� step← 2 ∗ sm
"� "�� i ←0 �� (bl − 1)
*� $� C∗ ��� ����  ���= ∗D
&� "�� j ←0 �� (sm− 1)
�� $� C∗ ��� ���� 
� ����	- @	��	� ���  ���= ∗D
�� pos1 ← i ∗ step+ j
�� pos2 ← pos1 + sm
�!� a1 ← vpos1
��� a2 ← vpos2
��� vpos1 ← a ∗ a1 + b ∗ a2

��� vpos2 ← c ∗ a1 + d ∗ a2

�	��� ��������	�� ��@��
 ��  �
� �@� �� �� �� �-������ n 	
 � ��������� ��
= 	� ���
�(�����	�� ����	�� ��$ ��������� 	
 /�	�� �-���
	(�A ��� ��@��
 ��� ���������$ 	� �$(����
$��	�� ��� 	�	�	��	2��	�� �� ��� /������ 
	������� ��$ 
����$ 	� � ��� ���� ����

	 ��
������
�
 �����$� �������$A ��� ���������$ ����
 ��� ��� �� �� ����	��	���	��
 @	�� 
� ����	0

��
 	
 ��$���$ �� 2n−1−kA @���� k 	
 ��� ��� �� �� ������� /� 	�
� �
	$� ���� ��	
A ���
	����������	�� �� ��� ����A  �	�� ����	�$ �� � /������ 
����A 	
 ������ ��� 
��� ��$
��������� ���� ���� % (	��
��A ��� "#$ ��$ ���������$0"#$ ����
A 	� 	
 ��� ����

��� ��
������� ��� ����	��	���	��
� �	��� ���
� ����
 ,�
� ��� �
 ��������	��
A 	� 	
 
�J�	���
�� ����� ��� 
@�� ������	��
 �� ��� 
���� (������
�� ��� �� 	����

	�� �� ��@ �	��0���
��	�� /������ �	���	� �(�����	�� 	
A 
�(����

�	�� ���
�������
 ��� ��������$ �
	�� ��� 4�
� �����$ C����	-0(����� ����	��	���	��
D
��� $	I����� ��� ��
 �� /� 	�
 n ��$ �	���	� ������
 L� �� �� *�� ���(	$�
 ��� �	�� 	�
������� ��/�	��$  � ��� /������ 
	������� �� �(������ 10, 000 ���$���� ������$ /������
�	���	�
 �� �	(�� ������ L� ��� 	�
�����	��
 �� ��� /������ �	���	�
 ��� ���
�� ���� ���
���� C����D 
�� {�,"#$,�"#$,%& (φ),%� (φ),%' (φ)}� �$���	�� ����
A 	���� ����
 ��
	������$	��� ���
�������
 ��� ��� ����@�$� �� ����	�����A �����	�� /������ �	���	�

@	����� 	���� ����
 	���	�
 ��
� ���� ��� �(�����	��
 ��� 	�$����$��� �� ��� ��� ���
	�
����� ��$ ��� 4���

 ��
�
� �����(��A ��� ��� �� �� ������� /� 	�
 ��� �k"#$ 	

��
��	���$ �� ,�
� ��� /� 	�� ��� /������ �	���	� ��������� $��
 ��� 
����� ���$���� ����
��� 
�� �� ��� C��������D ����
� ��
���$A 	� 4�
� 
�����
 ��� ���� ���� C�/����� $	
��	 ���$D

��
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��$A �����@��$
A ��� 
���	4� ���� ���� ��� ���� �� ��� ����
 �� ��	
 ����� :(��� /������
�	���	� 	
 ����	�$ �� ��� 4�
�  �
� (����� (1, 0, . . . , 0)� ��� �(�����	��
 ��� ��������$ ��
�� ;���� 0�����	 # �����

�� @	�� 9<==#*)�


� 	�
 �
7 � � " * & � � � �! �*
* !���� !��&� !��& !��*� !�*!� !���� ��"�� ���&" *���� ����*"�
�! !��!� !���� !��& !�*� !��*� ��"�� ���*" *���� �!�*�& �"���*�
�* !��� !��"� !�"* !�&�� ���*� ��!�� ����& ���!� �*���� *!����
�! !��� !�"!� !�*"� !��*� ��"&� ����* *���� �!���* �!�"�� &���!&
�* !���� !�"" !�&�� ��!�� ����� ����* &�"&� ������ �*��!� ��"��
�! !���� !�*!� !���� ����� ����� ����& ���*� �*���� �!�"&" ����"�
�* !�"� !�*&� !���� ����� ��"�" "�&&� ����� �����* �*��& ��&��!�
"! !�"*� !�&�� !���� ��*�� ����" *���� �!���* �!���� "!��"� ���"���
"* !�"�� !�&�� ��!!� ���!� ����" *��*� ������ ���!�� "*���* �"����*
*! !�*�� !���� ��!�� ����� ��""* &�*"� ����!� �*�*�� *!���� �&"*���

�� �� *��8 �	�� ���
����	�� C	� 
����$
D ��� ��� �(�����	�� �� 10, 000 �� 	����� /������
�	���	�
 �� ������ L = 5, 10, 15, . . . , 50 �� n = 2, 3, . . . , 10, 15 /� 	�
A ��������$ �� � +�
@	�� �*!!��2 ����� +���	�� � �����

���

� /�	�= ������ �� ��� ���
���$ �	��
 
���
 ��  � /�	�� ������� ��� ��@�(��A ���

��@$�@� ���
�$  � ��� �-������	���� 	�����
	�� �	� ��� 
���� 	
 �(	$���A �
 ���  � 
���
	� 6	���� *�"�
��� �I��� �� ��� �(����	�� �� /������ �	���	�
 	
 ��(����$ ����  � ���
	$��	�� ���

�(����� ��� �� �� �(�����	��
 @�	�� $����$
 �� ��� E�-����F �� ��� ��� ���A �	(��  �
��� ��� �� �� 4���

 ��
�
A ��$ ��� ������-	�� �� ��� 
����� 
����� �
 � ������ �� ����A
���� ��$A � �(� ���A ������- 
����� 
����
 ��=� �(����	����� 
����� $	J����� �� 	
 ���
����

��� �� ��@��
 �(������ � �	(�� /������ �	���	� ��� ��� 4���

 ��
�
� ��
���$A $�	��
��	
 	� � ���� ��
��	��	(� ������ ��� 
�(� ���� �	��� ��� �	�� �����
	
 	
 ����	���$ 	�
��� ��-� 
���	�� 	� ��� �����-� �� #+0 �
�$ 
������

!���� ������� -
�������

��� ���/���� �(�����	�� �� /������ �	���	�
 ���
�
 �	�� ��������	���� ��
�
� ���������A
	� ���
 @	����� 
��	�� �� 
����� ��� �����$
 @�	�� ��$��� ���
� ��
�
� �	���	4���	�� ��
��� �
����� ��$��$��� /������ �	���	�
  ����� �(�����	�� 
���
 ��  � �� � (	��
 @��8
�����	�� ��������� �����A 
��� �
 � ·�→ � �� %& (φ) ·%& (ψ)→ %& (φ+ψ) ��� ��$���
��� ������ �� � �	���	� ��$ ����� ��� �I���	(� ��
�
 C����	��	���	��
 ��$ �$$	�	��
 	� CD
��� 	�
 �(�����	��� ���
� ����
 ������� ����
 �� ��� /������ �	���	�  � 
������ �	���	�


��
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Time consumption for 10.000 evaluations of quantum 
circuits of  length L on n qubits
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6	���� *�"8 #����	��� (	�@ �� ��� �	�� ���
����	�� �
 �	(�� 	� �� �� *��� ��� �-��0
����	�� 	�����
� �� ��� �(�����	�� �	�� @	�� �� 	�����
	�� ��� �� �� /� 	�
  �����

(	
	 ���

�� �(�� ����(� ����
A 	� ���� ��� �	=� ��� 	$���	��� 9��������A 	� @	�� $����$ �� ��� 
�� ��
����
 @������ � �	���	� ��$���	�� 	
 ��

	 ��� ����	4�����A ��� �	�	��� /������ �	���	�
���
	
�	�� �� ����
 ���� ��� ���������� ���� 
�� ���$
 ��� ��  � $��	(� ��  � �
	�� ���
�
����
� �����(��A ��� ����	���	�� �� ����
 @	�� �
����� ���  � $�����	�	
�	�A ���� 	
A ����
���� ,�
� ��� ���� ���  � ����	�$ ��$ �� ���� ���� ���� � 
	���� ��
	�	�� @	��	� ���
�	���	�� .�
	$�
A �@� ����
 ��� �-���$� ���� ����� 	� ���� ��� ����	�� �� �� �(������	��
����
�

#	(�� � 
�� �� ��$���	�� ����
A �� 4�$ ��� 
�����
� $��	(� �� /������ �	���	� �(���
��

	 �� 
�/����� �� ����	�� �� ����
 ��
�  � ����=�$� ��@�(��A 	� ������� ��	
 @	��  �
�� �����
��� �� �������� �
 	� �-���$
 ��� ��������	���� ��
�
 	� 
�(�
  � ��$��	��
��� �	���	� ������� ��
���$A � ����	
�	�
 	
 
����
��$ @�	�� @��=
 �
 �����@
8 ���� ���
/������ �	���	� ���� ���� �� �	��� ��$ ��� ���� �	���	� ��
	�	�� ��� �	
� �� ����
 ���� ���
��  ������ �� ��

	 �� ����� � ����� ��� 
� 
�	���	�� 
��� 	
 	������$ ���	� �� �������
���� ���  � ����	�$�

�

��	�� ���� ����
 @�	�� ��$��� � ���� ��	�A 	� � 
	���� 
� 
�	���	�� 
��� �@� ������0
���� ����
 ��� 
� 
�	����$  � ������� ���������� ���� ��  � ��� ����� ����A 	� ��A ����
��� ����(�$� �� 4�$ � 
� 
�	���� �� ���� ��	�A ��� �����	��� ��
 �� ��� ������� ���
�	���	�A ���� 	
A O(L) ���� ��	�
A ���� ��	� ������	�� @	�� ��� ����0���$ 
	$� �� R ����
�
�� �����A ��� �	���	� ��$���	�� ��
���
 	� O(L2R) ���� ������	
��
� ��� �-��� ��� ��

�!
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�	���	��
 $����$
 �� ��� ���� 
�� ��$ �� ��� ���/����	�
 
� 
�	���� �� ���� ��	�

������
9��� ���� ��� ��$���	�� ���
� 	
 ��� 	���������$ 	� ��� ������� /������ 
	��������

6����������A ��� ��$���	�� ���
� 
����$ ��� ���� �� � ���� �� ��� 	�$	(	$���� � ��$��0
�	�� �� ��� 	�$	(	$��� ��� �I��� ��� �(����	����� �����

A 
	��� 	�����
 ��$ �����	����
��$��$���	�
 �	���  � ����(�$� ���� ���  � �����$�$ �
 � 
����� ���  ���4�	�� ������

	� ��� �������� C��� ����	�� ��&D�
� 
�����	�� �� 
	���� ������������ ����� ��� ��� ���� 
��

S := {�,"#$,�"#$,%& (φ),%� (φ),%' (φ)}
	
 ���
����$ 	� �� �� *��� ��$	��
 ����� �� ��� /� 	�
 � ���� ���
 ��� <����(�� ����
 ���

� 
�	����$  � ε ���� ��� ����(�$ ���� ��� �	���	� C��$ ��� 
� 
�	����$  � �D�

�� 
�	���	�� 5���
8
5� %'q (0)→ ε
5� "#$q ·"#$q → ε
5� �q ·�q → ε
5" %vq (φ) ·%vq (ψ)→ %vq (φ+ ψ) ,∀v ∈ {x, y, z}
5* �"#$t,c · �"#$t,c → ε
5& �"#$t,c → ε 	� ������� /� 	� c 	
 $�4�	���� |0〉
5� "#$q ·%�q (7/4π) → �q
5� )1q1

·)2q2
→ )2q2

· )1q1
, )1,)2 ∈ S \ {�"#$}, q1 �= q2

5� %'q (φ) · �"#$t,q → �"#$t,q · Rzq (φ)
5�! %&q (φ) · �"#$q,c → �"#$q,c · Rxq (φ)

�� �� *��8 � 
�� �� ����
 ��� ���� 
� 
�	���	��
� ��� 	�$	��
 	�$	���� ��� /� 	� ��� ����
	
 ����	�$ ��� �� ��
� �� �"#$t,qA ��� 4�
� 	�$�- �����
 �� ��� ������A ��� 
����$ �� ���
������� /� 	�� ε 	
 ��� ����� �����

9�� ��� 
� 
�	���	�� ����
A 	� ��	��	��� �
���� ��� �	���	� ��$���	��A ��(� ��  � ������
��$��	��  � ����
��(�
  �� ��� ������� � 
� 
�/���� ��$���	��� #��$ �-�����
 ��� ���

� 
�	���	�� ����
 5�A 5� ��$ 5�! 	� �� �� *���
��� $�
��	 �$ ��� ��� �� /������ �	���	� ��$���	�� �
	�� �����	� 
� 
�	���	�� ����


��� ��
�  � (	�@�$ 	� ��� ���� ������� �����-� �� 
�0�����$ ������� �����	�� ���� ���
$�4��$ �
 
��
 �� $	�����$ 
� 
�	���	�� ����
 �
�$ �� �������  � �������$�� ������	��
�������
 �� � �	(�� �-���

	�� @	�� ����� �������
 ���	� ��� 
	����
� ���� ��

	 �� 	

� ��	��$ G"�H� 5�@�	�� 
�
���
 ��� �-���
	(��� 
��$	�$ 	� �������� 
�	���� ��$ �����0
���	�
A �
���	���� 	� ��� �����-� �� 
�� ��	� ���� ��	� ��������	��A ��������$ �������
���(	��A ������� 
���	4���	�� ��$ (��	4���	��� ��� ��� ��� �� 4�$	�� ��� 
�����
� �-0
���

	�� ��� � ������� 
�� �� ����
 �
���	���� 	����$	�� �-���
	�� ����
 C����
 �-���$	��
��� �-���

	��D 	
 ��� ������� ��� 6�� ������� 	�������	�� �� ��� 
� ,��� �� ��@�	��

�
���
A 
�� �� �� G�!A "�A "�A �"H�

��
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 �
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���

��� �
� �� 	������$	��� ���
������� ����

��	�� ���$
 �� �	���� �$�	�	
����	(� ��
�
�
�� ����	�����A ��� ���� 	������$	��� ���
������� ��� 4��� 
���� (����� ��
 ��  � �����0
����$ �$$	�	������� ��@�(��A 
���	�� ��� ���(	
	���� ��
���
 ��$ ��� ��� � 	�	�	�
 ��� ���
���
������� �������
 �� ���  �����	�� ��$�
 	� �  �I�� ��$���
 ��� ��������	����
�(�����$ �� � �	�	���A 
	��� ���� /������ ���� 	
 
�	�� ����	�$ ���� ����� ����A ���0
���� �� �� ��� 	�4- ���(��
�� �� ����
A ����� �(�����	�� ��� ���
������� ���� C��� ��$�DA
4�
� ��� 
� ������� �����@	�� ������� E!F C�� 	����	�� $�4��$ ��  � ��� ���� 
� ����D ��$
���� ��� 
� ������� �����@	�� ������� E�F C���
�/������ ��� �	��� 
� ����D 	
 �-�����$�
%� ����
�A ��� ��$�� �� 
� ������� �(�����	��
 ��� ��
�  � 
@	����$� ��� ��
��� 	
 �
��� � 	�	�� $	
��	 ��	�� �� �����	� �������
 �����$	�� � 4��� ���
��������
'
	�� $��
	�� ����	��
� $��
 ��� ������ ��� ����

	�� �� ��� ������� ��� ���	�� �	����0

���� 
��������� 7�� m  � ��� ��� �� �� 	������$	��� ���
�������
� 6�� ���� �� ���
m + 1 ����
 ���� ��� ���� �� � ���� � �����	� $��
	�� ����	- ρi = |φi〉〈φi| �(��(�
A
@���� |φi〉 	
 ��� �����
���$	�� ���� 
���� ��$ i = 0 . . . m� ������� $��
	�� ����	-
ρ ���  � �
�$ �� ��������� �����
��� ��� ��
�� �� �� C����D 
����
 @�	�� ��
��� ����
��� ���(��
��8 ρ =

∑
i piρi =
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